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Claire J. Tomlin
Stanford University, Stanford, CA 94305

GNC Conference
5–8 August, 2002/Monterey, California

For permission to copy or republish, contact the American Institute of Aeronautics and Astronautics
1801 Alexander Bell Drive, Suite 500, Reston, VA 20191–4344



�����������	�
����
����	�
� ����������������� �!�����"��#�� $%���'&(#��)��#+*,� - �.& �/�102���

3 �'���4�,�6587:9 3 �;& 9<#=� ���>9@? � A(�/B C

DFEHGJILKNMLOQPRG�SUT	V8KXWNG�M'Y
Z	[]\N^X_X`badcfe�^�gihNjJalkJgi[nmpoqZ	[]\N^X_X`badcbosr�tvu�w	x�yNz

{ KN|d}XKNE�~6PR��G�OQG�P��
Z	��gHklk���jRc=jJad\N�	��^LkJ[�gi[n�=[�j�`�_��
jl�l�=^�`b�H`R�Nm�o�r�������yNuN������=a�g��l�

� EHKN�HPdG4�LT� �¡N¢£E��HM¥¤
Z	[]\N^X_X`badcfe�^�gihNjJalkJgi[nmpoqZ	[]\N^X_X`badcbosr�tvu�w	x�yNz

¦�§8¨X§d©«ª­¬J§¯®�°«±�²�³�©�±�´+³]µ�§¶±�©�§¶³]ª·°¯¸¹±�¨X§º´»±�¼	½n§d°]³�±J©�¾H¿X®�½n§d¨�®Jª·©�³]©�®ºÀ�°ÂÁ�±ºÃ/ÄX½�ªÅ²�ÆFµ�ÇX¿p©«ªÈ¨�®JÄ�¾³�±�¸¹®º³�®	³]µ�§d±J©�ÇlÉ�Ê£½�ÄX¿p½Ë§¶³L±J¼X³]µpª·½L¸¹±X¨X§R´Jª·½�ÄX½n§d¨q³�±�Æ�§º²�§d©�®º³�§2®J²�®J´­Ç�³]ª·°�Ìp©�§d¨�ª·°]³]ªÈ±�²X½»±J¼�®JªÈ©=³�©�®ºÀ�°Í ®J¸Î½«Ï�Ã
§q¨X§¶ÐÑ²�§q®J²X¨�¨X§d©«ª­¬J§Â®ÓÒ¶Ô¶Õ�Ö¶×�ØÚÙÂÛ�ÜËÙ]Ý�Þ�ßqÙËÖ�à�ÖºÙ�ØáÝâÔãÃ�µpª·°]µ�Ã
§¯ÄX½n§�³�±�Ìp©�§d¨�ª·°]³�³]µ�§ã³«ª·¸¹§qª­³³�®�äl§R½�³�±s±º¬�§d©«´È±�®�¨�®�Æ�ªÈ¬�§R²4Ì�±J©�³]ªÈ±�²�±J¼�®JªÈ©]½nÌX®�°�§�É¯¦�§8¨X§R½�ªÈÆ�²�®J²X¨�ÄX½Ë§Î®�¬d®J´Åª·¨X®º³�§d¨4®JªÈ©�³�©�®ºÀ�°Á�±ºÃ!½�ªÅ¸¯Äp´È®º³�±�©¶å�³�±8®�½n½n§d½�½æ³]µ�§�®�°�°dÄX©�®�°�Ç�±�¼L±�ÄX©çÌp©�§d¨�ª·°]³«ª­±�²X½�É�è�µ�§R²ÑåbÃ2§¹ÄX½Ë§q±�ÄX©ç½�ªÅ¸¯Äp´È®º³�±�©	³�±½�µ�±ºÃé³«µ�®º³�Á�±ºÃ£½n°«µ�§R¨�Äp´·ªÅ²�Æ�®J²X¨8°«±�²�ÁÑª·°]³
©�§d½Ë±�´·Ä�³«ª­±�²Î¸¹®dÇq¿b§ç¨X§d°�±J©]©�§º´­®º³�§d¨8Äp²X¨X§d©�®�½n½�Äp¸ÎÌ�³]ªÈ±�²X½±�²�®Jª·©]°�©�®l¼â³�¨X§º²X½�ª­³ËÇ8°�±�²X¨�ªê³«ª­±�²X½«Éë2ìní«îNï«ðÚñ«ò Ï
½n°«µ�§R¨�Äp´·ªÅ²�ÆpåÑ²�§�³ËÃ2±J©]ä¹°�±�²l³]©�±�´óåp¨�ª·½i³�©«ª·¿�Ä�³�§R¨s°«±�²�³�©�±�´áå�µ�ÇX¿p©«ªÈ¨s®JÄ�³�±�¸¹®º³�®�³]µ�§d±J©�ÇlÉ
��ô2õpö�÷�øçù�úNõ�ûË÷
ô

üæýbþ)ÿ��������	�
����
����������	�¶þ���������þ����! �"$#&%'���(�)���	��*�þ
�������Åþ	+,�-�.�Jþ���þ0/1+&�2�	�2������þ��	�3/������	�4�-�5��������þ6�879�:�;�4�6�	�<�����	�
��=���ý2�	���>�?�@���A�6=2����þ��B���>�@�B��*<���2��C¶þ0/4ý2�Åþ6�;���;�]ý2�-�6�	�>���8DE�:��ý(�
�����2*B�·þF"�GIHKJ2H�L?MKN�OQP�R�STH�P�UV#XW.Y;S[Z6\]O,P�\3\^L�R`_aOQZbR
ScZ6H
d "AJeOf#gOhO
i8�j���lk�þ�����/2�	�m+mn&
�%A��=2�Nþ6��o��������2*5��ý�þ^��o�þ6�;�����
���;��pq�sr���Dut¹üæý2�-�$�-�u��=2���
�B����þ�/wv<�yx	xw�!x�z{���F|E}Âÿ�~��2%
"�GIH5��P���S[Z�J�H�L�M�N�O,P�R�STH�P�U4OQZbR
ScZ6H;Y d "V�AJQOhOgYci��	��*B���
�2��C¶þ�/�v���*Jþ6�B*	�;����ý��������$��þ�*	���	�mt��e�	�]ý�|2þ��B��þ6���-����=2v��
/���o<�-/pþ0/��>�<������vX�	=��8x�zl��þ��b���	�;��+�DE�>��ý������Åþ��B�?�5�	��þ'�	�>�
���;��pq���6�	�<�����	���·þ��Q��þ����
�B������v2�ÅþE�j�	��þ��B�]ýq�nþ0�����	�0tg�9�	�]ýq��þ����
���B�5�6�	�<�����	���·þ����^�.�����	�>�K���KxB�.�[�	zl�	�>�;�b�;���I�{���8��*	��oJþ��
�����8þ��j��ý�þ(�^�������s=2���	�>����D2þ0/���=2�svNþ6�8�	�3�������6�����I�{�Nþ6�
�nþ0�����	��/pþ6�Nþ6��/����	�l��ý�þ8�nþ0�����B���:�;�nþ��:��%bt��[��*Jþ6�bþ6�;���T+&��ý�þ
�b�B�B�����B�>�Åþ6�¯ý��	�3�	�6�¶þ����u������ýbþ{�����;�b�;���I��� �$r���*Jý<�4�2���	�����
/
�^�.�V��þ6o�����þ&��ýbþ9���>���>��=
/pþe���
/$�2����o��-/pþ&��þ����
�B���	����ýbþ��	/2�>�2*
�	������*	���Îþ��<����+��	�8þ6��/{��ýbþu���B=���þB+2���Nþ¶þ0/1+2�2�������Åþ	+����8�	�;/pþ6�
���'������þ6�����A�����	�����>����C¶þ���ý�þ^r
��D��	��/y���@��þ¶þ��l�������6�����I�
Y6Zc��L�H�L�ScZ;_'�!�@�
��=����������e�����·þ{��þ0�<=2�>��þ6�8þ��B�3�>�(��ý�þ8|2þ��B��þ6�
�����������B��þ0%b+e�	�4D�þ6�����	�3���(�2����o���/�þ�D�þ�����ý�þ6����þ6�X�	���������
/
DE�>�
/2�6t
�;���?�!�� ;¡!¢c£¤�T¥.¦.¦�§�¡©¨T�?ª¬«b­¤ ¯®�¡T ;ª.¥� �¨!��°��?±²±²§�³f�!£.´²¦µ§;°F¨T£0�¶�·�?± ·�?®b �¨!´²§�¸8¹ ·�?¸ ·�?¡c ;±²�º¦	§�¥0¡V±-» ¼f¡T½E�?½E�?¸6¨�¾>¿�¡c ;¸.¢?��ÀcÁgÂ�¼,Ã�¼�¼f½E�?�¥.¸0ª.�?¡g®�¡c ;¸b¨,Â�¼,Ã�¼&Ä;Â&ÅmÅ@Æ�ÇjÈ;ÉbÆ�Æ0ÁB ;¸.ªu«b­�¨!£.� ¶ ¼g��Ê	¼FÃ�§;°:¨I³m ;¡!�Ë ¸� ;«.±²�?ª�Å`§�¸b¨T¡!§�±X¦.¡!§�®�¡c ;½$ÁB¥.¸.ª.�?¡Q®�¡c ;¸b¨Q¿�Ì�Ì�Í0Î�È�ÇjÏ�Ï�Ç©ÅXÇjÌ�Ð0Î?É4¾� ;ª0Ç½E´²¸.´²�©¨T�?¡!��ª�«b­V¼g¿���Ñ�À[ÒÓ ¼gÔI¼f¼��©¨T¥0ª.�?¸6¨3½E�?½�«��?¡�Á,Ê
£<Ò ¶ ÒQÃb¨T¥.ª0��¸b¨�ÁEÕ�­�«.¡!´²ª(Ã6­��!¨!�?½E�Ñ� ;«�§�¡T �¨T§�¡©­6Á�¼g�?¡!§�¸� ;¥0¨!´²¢��m ;¸0ªE¼g�!¨!¡T§�¸. ;¥0¨T´²¢?��Á�Ã6¨T ;¸0°>§�¡Tª�Ö�¸.´ ×b�?¡T�T´ ¨I­bÒØ ¶ ´²¦.±-ÒmÔI¸.®.Ò ËXÙ ÕQÁ�ÊX£<Ò ¶ Ò�Ã6¨T¥0ª.�?¸6¨�Á<¼f¥0¨!§�½� �¨T´²¢�Å`§�¸6¨!¡T§�±�Ñ� ;«�§;Ç¡T �¨T§�¡©­6Á�Ã6³�´²�T�m¿��?ª.�?¡c ;±�ÔI¸0�!¨!´ ¨T¥0¨!�e§;° Ù ��¢T£.¸.§�±²§�®;­bÒÚ ¼gÔI¼f¼�½E�?½9«	�?¡�Á�¼f�T�T´²�©¨c ;¸b¨�ÊX¡!§;°��?�T�!§�¡�Á�¼g�?¡T§�¸� ;¥�¨T´²¢?�
 ;¸.ª�¼f�!¨!¡T§;Ç¸� ;¥�¨T´²¢?��Á ¶ ´²¡T�?¢[¨T§�¡�Á6Õ�­�«.¡T´²ªhÃ6­0�©¨T�?½E��Ñ� ;«�§�¡c �¨!§�¡!­bÁ0Ã6¨T ;¸0°�§�¡!ªhÖ�¸.´ ×b�?¡!Ç�!´ ¨I­6Ò Û�Ü�Ý;Þbßjà á�â;ã�äå¤æ�ç�ç�æºè ÞAã!â6éEê`ë,é[ßjà ä[ì�í3î-í6ï ã©à ã©ð6ã©éhÜ�ñgê`é[ßjÜ í�ì ð6ã©à ä[ïì�í�ò ê ï ã©ßjÜ í6ì ðbã©à ä[ï

ó
î-í6ä
ô
ê`õ õ�ßjà á�â;ã ï ßjé ï é[ßIö�é ò

ô

�Q�����������2* ÿV
º�÷����/pþ6���>��*ø�����	�-�¥ý
�.oJþ��j=2���b�����	���	�>�>�?�
D�ý2�-�]ýl�����	���$��ý�þ�����/pþ6�����2*����E��=2��D��.�y����/F�	�>���X�	���s�6���
���	�6�:�?�ù�	��/¯�	�Nþ6�;�������	�
�6+4��ý����B=2*Jý������������B��þ��B�Ñþ����������	���
����/5�b�B��r��-������þ����	��=������	��+²ú ó æ ���Îý�=2�^�	�{�©�B�����	�;�E����/{�^������^�	�]ý2����þ^���B��þ6*B���������	�mt8�Xþ¶þ0û ójü �j�	�s�@/�þb���	�>�Åþ�/F��=2��oJþ����$�	�ÿV
º���4��/pþ��>���2*l�	��/��b�B��r��-����/pþ6��þ��b�����	���	��/���þ0���B�>=����>�B�
�8þb��ý���/��6tg
F��þ0��þ��B�1�����	�T+0ý�
V|��2ü$+ þ ójÿ ��þ��2��þ���þ6�<���X��ý�þ,���;�?��	���b=2�;����þ�ÿV
º�5�����s=2�-�����>�B�q���<�B�!+�DE�>��ý5��ýbþ$�B/2/��>�����	���	�1�6���
����v��>���:�?�y�������2���.��v��B�;���{����/pþq=
�����2*'�B����=
���Q������pq�4r���D
/2���;�2t5}�=��A*	�<���,�-�$����/pþ�oJþ��>�B�(�8����/pþ��QD�ý2�-�]ý(�6�	���2�Åþb�
�8þ6�<���Âþb���-�?���>��*q�����B����+1v��5������o��-/��>��*{�5�b�	�<�����B�m��ýbþ6�	��þb�����
�b�B�4�X�	�bþ6�<�sD�ý2�-�]ýF����/�þ6�-�u��ýbþ�����r�=�þ�����þq�	��
����Îüf����pq�
|9�	�<�����	�f�T"AJeO�%bt���ý2���ÅþE��ý�þº�	/2/2�:���>�B�����
�>�B*	�-�h��þ0�B=��>��þ�/3���
����/�þ6����ý�þ��	�b�����	���&�	�
��ý�þ��b�B�B�����B�>�Åþ6�,/��Xþ0�,�2���Q�X�B��þE�u����*��
�2�>�
�6�	�B�º�b�	���2=2�������>�B�������2���Bv2�Åþ6�¬�:�,��ý�þs�����;�b�;���I�V/pþ������>�?�
�>�w��ýbþq�����������	�¶þs�-�$�>��Du+��:�uvNþ��b�B�8þ��u���y�-����=�þ^�	�$/pþ������>�?�
�>�
�b��þ��	��þ���t6üæý�þ����	��*@��þ���� *	�<���Q�	���>�
�b��þ��	�����2*��6�	���	�6�:�?�
�	��D�þ6���m�	�h�����áþb�?�^������ý�þqÿV
º�������2�����EvÑþu�B�]ý2�·þ�oJþ0/qDE�>��ý��
�	=��s�	�w���F/pþ6�2��ýF�����	�>�������$�	�e��ý�þ������2�>�Åþ�/y�b�B�<�����	�,���	*	�-��t
�c����=��]ý ����������þ�� D�þ6��þF�ný2��DE����������/pþ��u��ý�þ��b=2����þ��<�
�����������B��þ@DE�>��ý���=�pq�b�Åþ6�<�8�	�6�6=2�;�	�b�B+h��ý�þ�����DE��/pþy�������.�
���h���2�2���-�6�����>�B���$D��	=2�-/'vNþ��6�	�8þ4�áþ��B����v2�Åþ	+m�����b��=�/����2*@�2�����
o���/����2*s�B/2/��>�����	���	����=2�2�X�	���Q�j�	�e
�üV|����^�2��þ�/��-�����>��*s/pþ6�-�.�	t
�[�4��ý2���e�����Nþ6�eD2þh�2��þ���þ6�<�e�$����/pþ6�T+B�B�,D2þ��>�
�	�,���
�����B�����

����/������s=����������	�l��þ���=2�>����+Q������ý�þ8�������6�����I�4���
/��b�B�<�����	���·þ��
�	�b�����	���hDE�>��ý2���@���nþ0�����B�E���,�����������B��þ	t���þu=��nþu�B=2�E����/pþ6�
���º�?��=�/��$��ýbþ2þ��Nþ0���&���������;�b�;���I��r
��Dl/pþ6�����>�?�º��þ��<=2����þ6�8þ6�<���
���{��þ��b���B�qv
�B=2��/2�	���Åþ��'�©/�=�þB+E�j�	�Fþb�2�����2�Åþ	+����l���>�Åþ����T�����
���;�����Q��þ��<=2����þ��Îþ��<���A���3�������X�	�����A�>�l��=2v���þ��<=�þ��B�4�nþ0�����B���;%�7
��ý�þº����/pþ6�1��������D��Q�2��þ�/��-�����>�B���6�	����v��>���:�?���	�=ý2��DK��ýbþº�6=2���
��þ��<�������?��þ6� ���>*�ý<����þ��B���4���(���4�X�B��þ�/lr���D¤�6�	��/��>�����	�
�6t
�[�'�	/�/��:���>�B�m+
��ý�þ3�4��/pþ��f�	�>����D��E��ý�þA��þ��������2*q���,��ý�þ¯þ��Nþ0���
����oJþ���þ����4����/��	�+þ6��þ6�<�q�b�	�<�����B�>�Åþ6�4�
�B�>�-�b�Åþ������������2���4��C6���2*


���
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




/pþ6�-�.�����>�8�X�B����þ�/{r���*Jý<�E�2�-������t
üæýbþ3���	�Ñþ���ý
�	�V�j�	=2�º�^�����w�b�B���
�B��þ6�<����t$�[����ý�þs�
������+

D2þº�2��þ���þ6�<�E�s����/pþ6�`�j�B�E�3�6�	�<�����	���·þ0/q��þ������	�0+�v��	��þ�/��	�{�
ý��<v����-/(��������þ6������/�þ6�,�j�B�qþ��B�]ý(�	�>�;�b�;���I�uD�ý2�-�]ý>þ6���6��/pþ��
�������2�Åþ��	�>�;�b�;���I�u/������	�4�-�6�º=2�
/pþ6�A/��-���b��þb��þ^�B�������	�w���9��ý�þ
�b�B�B�����B�>�Åþ6�E�©D2þæý��.o�þ9�Bv��nþ���o�þ�/A��ý����,��ý�þ���þb�Q�	�X�b�B�����	��/2�
=���þ�/8v��5�6�	�<�����	���Åþ6�;�6+2D�ý��>�Åþs�-����*JþB+2���V���2�>��þB+X�	��/��6�	�����������
�������>���2�Åþ{�B�������	�
�s��=��]ýl�	��� ����=2���(����ý�þ��B/����2*�������/pþb�
*	��þ¶þ0� ��+ ��ý2�	�-/l�6=2����þ6�<�¯ýbþ��	/2�>�2* �2+���r��F/��>��þ��b�s�����Ëþ6�?D��.�
� �2+��������6��þ0�	��þ����Nþ¶þ0/F�����w���2���;� �<%�t(�[����ý�þ8�nþ0�b�	�
/1+,D2þ
/pþb�
��þ^��ýbþ��b�B����þ����s������þ��b���	�5_�W�RXL�\3G©N@N;L;�2LBNbGISTW�+,D�ý2�-�]ý
D2þ3�b�	�3v2����þADE�>��ý'�	�����������-�E���q�2��þ�/��-������ý�þs�����Îþ3�:�����	�Jþ��
������oJþ6�����B�	/�*B�>o�þ6����þ������	�;�q�	�s�����������	�¶þ	+��	��/K��ý�=��5�2��þb�
/��-����/pþ����.����+
�B����=2���>��*q�b�	�<�����B�>�Åþ6�;�E=���þs�^��=2v���þb���	�&��ý�þ��>�
�.o��������	v2�·þl�6�	�<�����	�3�	�����>�B����t �[����ý�þl��ý2����/1+3D2þF����þ0�nþ��B�
�	=2�������s=2�-�����	�	�QD�þA/pþ����b���>vNþ$��ýbþA�>���2�Åþ6�8þ��B�;�����>�B�@���,�	=2�
����/�þ6�Q����|�
�
�DE�>��ýl�
��
�ü��f
���=��nþ��A���B��þ6���©�	�¶þ	+f�	��/1+
*	��oJþ�����ý�þº/������b��þb��þ��	��/^�b�B�B���>��=2�B=��e��������þ����1��ýbþ������;�b�;���I��+
��ý�þy�	�b�����	�)�B�����>*B��þ�/����l��ýbþy�	�>�;�b�;���I�'�!�b�	���2=2��þ�/)o����l�
�b�<�?�A�j=��������>�B�
%�+QD�ý����]ýF�;����þ��u���<���w�B�6�6�	=2�<�A��ý�þ{��������þ��	�
��=������	=2�
/��>��*q�������6�����I������/@��ý�þ��������6�����I��r���*Jý<�������	�mt�üæý�þ
�?����=
����=���þ����m��ý�þº�6�B���9�j=��������>�B�sý��B�9vNþ¶þ��{/pþ0����*	�bþ�/^v��^=��
��ý2���	=�*Jý(/��>��þ��b�u�>�<��þ����B�����>�B�'DE�>��ýF�����$���;��pq���b�B�B�����B�>�Åþ6�;��t
��þ�o�������/�����þ��	=��y���>�3=2�-�������	��=������2*a�Q��ý��	����þ0/@üf����pq�
�����
��*Jþ��8þ6�<�3�����?��þ6� �©�2ü��'�2%A/�������t ÿ ýg���������>�B+&D2þ��B�?�
�nþ0���Âý2��D¯�	�6�6=2�;����þ3�	=2�u�	�������<���-�6���&�2��þ�/2���b�����	���$����þsDE�>��ý
��þ0���Nþ��b�Q���s��ý�þV����=�þ������?��þ6��v��4�6�	�����	�����2*u��ý�þ6�ø��*<���������
�	=2��o�������/2����þ0/������s=��������	����þ0��=��:�;�6+1���
/�/��;�.D��6�	���6�>=
�����	���
��vX�	=��s��ý�þFþ �+þ������>o�þ6��þ0���s����/��	�Nþ���þ��<�4�b�B�<�����	���·þ��u�
�B�>�-�b�Åþ��
�>�wr���D �b�	�<�����B�g�����Bv2�·þ��^�6t ��þÎþ6����þ6�
/w�B=2�A���>�3=2���������	���
���u��ý2��D ý2��D��b�B��r��-���Q��þ����	��=������	������/s���;��pq�9r���D����.�svÑþ
_	Z;N;P�H�H�Z6U>L�ScZ;_��3�	�4�����
�B���;���<�Q�	v
�nþ���o������>�B�s��ý����9D2þh=���þ����
�	=2���6=2����þ��B�hD��	���Xt
üæýbþ�/2���;�8��ý
���3D�þq�2��þ���þ6�<�s���F��ý2���3���	�Ñþ��s�Nþ6���������(���

�nþ�oJþ����	�h��þ��b���B���4DE�>��ý2���K��ý�þw}º�	�����	��/�
��QüV|E|�+,��ý�þ'*Jþb�
�	*B���	��ý2�-�6���$/2�������2��þ0�nþ��<��þ�/��-�@�.o.�	�>�-��v��·þy�>����ýbþy��=2v2�����
/��	�^�	�>�)�©D2þ{=���þ�/��<�����e�9�2�
ÿ��8ý��>*�ý����>���>��=
/pþsþ��2���B=���þ
�]ý��������;%�tF}�=2���b�	�<�����B�>�Åþ6�3�4��/pþ����	��/l�6�B���s�j=2���b�����	�£ý��	�
vÑþdþ6�@/pþ0����*	��þ0/5v��	��þ�/{�	�8�	=��E�	v���þ6��o��������	�
�6+���oJþ����nþ�oJþ����	�
ý2�	=�����+`������þ��b���B�º�6�	�<�����	���·þ����V�j�	�$*B�>o�þ6�w��þ��b���B����71D2þÎý��.o�þ
�^�	/pþ��?=��?���:�Ñþ�/��	�2�2���.���>�^�����>�B���uD�ý�þ���þ5���2�����B�2���-����þ��j�	�
��ý�þ4�?��=�/��@������ý2�������	�Ñþ���t��@�B�����	�,��ý�þ�����þ6�
�����>�<�E��=��'���
��ý2�-�^���	�Ñþ���/��(�2�	�q��þ��2��þ0�nþ��<�����	�����	�h���;��pq�5r���D��@vNþb�
�6�	=��nþVD2þV�	��þV�>�<��þ���þ0�?��þ�/^���q����/pþ6�����2*3/pþ����.�4�2���	���	*B�������	�
���Q��ý�þ���������þ6� =���/pþ6�u������þ����6+`��ý�þ3���;��pq�3����þ����������B������/��
þ6�Åþ�/{��þ��2��þ���þ6�<��ý�þ��.o������;��pq��r���Da�����	�2*��Ëþb�?Dh�.���6t

��ûnöéõpö�� �<ú"!�÷$#&% ÷æø�')(nû�ô+*
,.-0/2143658781:9<;	7=9014>@?)3BAC1:58D<36;	>FEHGJI0>LK
üæýbþ�������=�����=2��þ����1��ý�þ�ÿ�
��^�-���b�	���2�Åþb�1+B�j�	���:�h���<oB�	��oJþ0�

�E�s=��:���:��=�/pþ����2���B��þ6�;�	�b�����2*���*�þ6�<���f����/$��þ��]ý2���	���	*	�Åþ����1�������
�b�;���I�q���	���:���	���>�2*
+er
��D �^���
��*Jþ��8þ6�<��+E�b�B���s=2�2�-�6�������	�m+
ý�=2�^�����c�>�2�!��ý�þb�c�>���B�mt ý��	�{��ý�þy�2��þ���þ6�<�{D��	���`+E�>��D�ý2�-�]ý
D2þq�	��þ����<��þ6��þ�����þ0/y�>�(�2��þ�/��-�����>��*�/pþ6�-�.�	+fD2þ�þ6�<�����B���A���
/
����/�þ6�,�	���>�@��ý�þ4�áþ�����=2��þ��$D�ý2�-�]ý(����þ3�����
�B���;���<�$�j�	�$��ý����
�2=2���
�<�nþBt ��þE����/�þ6���º�X�	�������	�4������ý�þ�}º�����-����/3
��QüV|E|�+
D�ý2�-�]ý��b�	�<�;�������E��o�þ^Y6Z;NbS[P�H;Y�t�üæýbþ���þs�nþ0�����	�;��þ6�
�b���B��þ$��ý�þ

0 50 100 150 200 250 300 350 400 450
0

50

100

150

200

250

300

350

nautical miles starting from W124

na
ut

ic
al

 m
ile

s 
st

ar
tin

g 
fr

om
 N

34

122

122

120

120

118

118

116

116

36 36

38 38

ZOA33

ZOA32

ZOA34

ZOA15

ZOA13

San Marcus

Avenal
Shafter

Palmdale

Daggett

Tw. Palms Parker

Needles

Oakland

Big Sur

Salinas

Manteca

Friant

Coaldale

Beatty

Las Vegas

Point Reyes

Mendocino

Sacramento

Mustang

Mina
Wilson Creek

Hector

Boulder City

Clovis

Linden

Sector Boundaries 

Jetways 

NAVAIDS 

TRACON 

MNACO0P�Q R�S�TU58>L;	7VGB1:5WEHGJI0>LKC>LIX/2GB1F7=Y<AZ5H587=9<I0[]\_^B`J?^B^�?H^ba0?
QL^c36-<IUQLdce�AC78Y<AZ-f7=Y0>hg�36ijKk3B-<IlR�mnS�T�ToPS�Y0>�I0367V3pEHGJI0>LKC>LIq;�G�EH>L5�/214G�ErM�R�T�stS�uv365oe�>LKZKw3B5xjsty�y�snzjst{UY<ACO@Y�36KC7=AC789<I0>F>L-014G@9j78>|;�Yj36147=5	Pk}
}º�����-����/�ü���
V|E}Âÿ �Úü�þ6�����>�
���~���	/����h
��2�2���B�B�]ý{|E}ÂÿE�
�����	�I%�+QD�ý����]ý�/�����������v2=���þ0�4�>���6�	�����2*y�	�>�;�b�;���I�3���w��ý�þ@���	�
ý2�;�����6�����b�
+��2���W�	�<�nþ$����/@}º�����-����/��������X�	������t�üæý�þ�ü���
E�
|E}Âÿ¤�-�3��ý�þ5���
���E/pþ����������������	���	�V��ý�þ�r
��D��3D�þ5DE�>���hvÑþ
�>�<��þ6��þ�����þ�/{���mt

��þº�4��/pþ��1�s��þ������	��v����3�X�	�������	�q�	�f�����������B��þV�6�	�<���	�>���
�>��*(�	�>�;�b�;���I���!ýf��*	=���þ��0%bt"üæý�þ@���<��þ6�����	�����º��ý2�-�q/��B�^�����
���5�b�B�<�����	���·þ0/��	��þ0���j����D�ý2�-�]ý���ý�þw�����6�	���b�B�<�����	���·þ����6�	�
�	�b��=�����þ3��ý�þ4r���DV%bt(���>��ý2����þ0�	�]ýy�nþ0�����B��+1�
�.o<��*B�������	�������
�j���B�?����=
����=���þ����6ZbS��eL�W.Y8�qR`L��0G��BL�S!G©P�R�L�G©_.Y8���eL�W��2P�GIR�S!Y0%����
�b��=��b�-��������ý�þ6���4��ý�þhr
��Dl�j�	������D��¶þ6����������/pþ����>��þ�/3��������þ����
�67
D2þ���ý�þ���þ6�j�	��þ�����/�þ6�`����/�=���þ��>��+Xþ6o�þ6�^�>�����B�8þb�����8þ��9���	��þ
��ý��	�_�<z6� �	�e��ýbþ��	�>�;�b�;���I��r������
�Ëþb�?Dh�.�	t�}�=��º����/pþ��,���
�s=2�>�����-�.�Jþ6�u�!�������6�����I�E�	��þu�	�>����D2þ0/q���4r��{���V/�� �+þ6��þ6�<�V�	�:���:�
��=�/�þ���+<v�=���/��3�2���h�b���>�3vq�	��/pþ�����þ���/�%bt&
V�:���:��=�/pþ$�]ý�����*Jþ��
����þ������V�b��=��6���	�
�j�B�h��ý�þ�þ��Nþ0���;�hD2þ$Dh���<�h������/�þ6�<���>�j�<�&��ý�þ
�?���Ñþ@�	�º��þ������	�^��o�þ6���>�<�	/2�sD2þ@����þ8�>�<��þ6��þ�����þ�/������^�	�>�2���
��þ0��=��:�;���j���B� �	�>�;�b�;���I���B�6�¶þ6���;�����¶þ�������þ0�q���{/�þ��������������>�B�
�������X�	������t
R�AC1:;	1436/�7��]>bYj3L�jACGB1

��þ�=���þ�����WL�bH�G©_�\�P0_	Z6Ue�j�B��þ��B�]ýw�����;�b�;���I��t4
 ý<��v2���-/
����/�þ6�&/pþ����b���>vNþ��V��ýbþ¯þ6oB�	��=������	�'���e�������?��þ6�÷v��@����þb���	�
_�G-Y6N6H�ZbS[Zw\�P0_	ZbY�+�þ��B�]ý��	�������6������þ�/�DE�>��ý¯N;P�R�STGIR���P���Y'_�W��
RXL�\3G©N;L�U�Y�W.Y�ScZ6\sYq�	��/�_�G-Y6N6H�Z6ScZwY=�,GIS[NV��Z�YyD�ý2���]ý"þ6���	v2�·þ
��ý�þ$��������þ��������?=2���{�j���B�ø�	��þ��4��/pþº���4�	�2����ý�þ6���>�
�?�;�����
���	��þ6�B=������	tf�[�s�^����ý�þ6�^�����-�6���B��þ����^��+�D2þ9DE�>����/pþ����b����vÑþe��ý�þ
���������	�5���,�����;�b�;���I�n�Qv��0�

���0�$�l� ��j�
�b�

� �� ä ð�ßjßjé í ã
â�é ì�ò à í á ���0%
D�ý�þ6��þ �� ä ð�ßjßjé í ã
â�é ì�ò à í á���� æ �-�{���b�	�
�?�;���<�{���Ñþdþ�/�o�þ����
���B��ýbþ6�-/¯v�����ý�þ��������6�����I�y=��B���>����ý�þ���þ6�<��ý�þ0�	/����2*��	�
���Nþ¶þ0/F�]ý�����*Jþ	t ��j� ��� æ ���$��ý�þq�2�-���
���A�X�B���:���>�B�(�����������
�b�;���I���;t&�[�<��þ�*	�;�������	�^�	�»þ��<=������>�B�'���.%,��o�þ6�,���>�8þº�2����/�=
��þ��
�l�©�6�	�<������=2�	=
��%º�2�Åþ��¶þ6DE�-�nþ{��p^��þ^�������Ëþ������	���	t ��þ��2��þ6�áþ6�
��=
�]ý��y����/pþ6����o�þ6���(�b�	���2�Åþb��þ6�����6�	�<������=2�	=���/������	���:�

- ��
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




�6�	�f����/pþ6�g�j�B���?D����^�	�>�w��þ0�	���	����� d G i3��ý�þs���>�8þ^���6���Åþs�	�
� ���]ý��	�2*Jþ^���l�����;�b�;���I�uvÑþdý��.o��>�B� �F�j�j�	�qþ6�2�����2�Åþ^��=2���F�	�
������DF/���DE�
%����f�	�A��ý�þ��	�;/pþ6�f���
�BzV��þ��6�	��/2��7.��ýbþe���>�8þh�������Åþ
���Q�q�����;����*Jý<�����>��þs�
�B�����>�B�@���&��ý�þAr��>*�ý<�V���V=���=������>�5�s=
�]ý
�>�B�2*Jþ���+����	�8þb���>�8þ0�=ý��	�:�X���¯ý��	=2�g�	�g���	��þ	7���ý<=
�fD�þe��*	���	��þ
��ý�þ�/����������-�6�Q�	�m��=��]ý^�^�	��þ6=2o�þ6�;�Q���
/4�j���6=��Q�B����ý�þ��>�2þb�I�
�áþ��b�����B�2���y�j��ý�þ��nþ6�V���,��þ���=2�>�����2*������;����*Jý<���>����þ0��%b7 d GIG i3��ý�þ
=2�`/2����þ��;����þV���g
�üV|����	�2�>���B�����2*s�-�9�>�{*Jþ6�bþ6�;���X�2���h���	��þ
��ý��	�{�BzA�nþ0�b�B��/2��+<D�ý����]ýq�^�	�Jþ��e��ýbþº/pþ6���	�>�-�e�	�m��ýbþ���þV�^���
��þ6=�oJþ6�;���>���B�6�¶þ�������v2�ÅþA������ý�þ^
�üV|�t»üæý2�-�$���2�2���.���>�^�������	�
���hDE�-/pþ��>�5�	�6�¶þ6����þ�/{�>�5��ý�þu�>�>��þ�������=2��þ	t ��� ú û
}��
��þ8��ý����{�nþ6�������2*F�-�^�����2���B��þB+9��ý�þ�����/pþ6�����2*F������þ��:�

�����>o�þ6���'�?�����	�>*�ý<���j�	��Dh���;/1tv���	�2�>���B�����2*@
�üV|¯�ný2��D��º��ý����
�5���2�>��þ5�nþ6�A���E�^����þ�=2oJþ�����+�D�ý2�-�]ýl/pþ��Ñþ���/F�	�(�����6���e�����
���	�8þb��þ�����+g���3=���þ�/1tF|9�	�sv��>���������	���s���h��ýbþ���þ��^����þ�=2oJþ����
��þ0��=��:�@�������6�	��r
���b���T�j��þdþwr
�>*�ýB�6þ��<o������B�2�8þ6�<�@DE�:��ýa��ý�þ
�b�B���?�����	�>�<�;�$������ý�þ��	�>�A���;��pq�4r���D �Îþ6��t�üæý�þ^�j�B�>����DE�>��*
�^����þ�=2oJþ����u�	��þq����/pþ��·þ0/��©���
/F�b�	�
���-�?�3�����]ý�����*	���2*5��ý�þ
����*Jý<��ý�����/{���-/pþº���9� �0%9�	���b�	�;/����2*u���4�¶þ6���������q��=2�Åþ���D�ý2�-�]ý
D2þº�2��D��^����þ�þ6���2�>�-�b�>�;%bt	üæý�þºo.�	�>�-/��>�?�^���m��ý2�-�h�4��/pþ��+ý��	�
vÑþdþ6�(�b�B�������Îþ0/@v��'���������������-�6�	�,�?��=�/��Åþ��º��þ0�����>Cdþ�/����o�@�Ëü
��|�
�ü¯�!k��-�?���	�@���
/{k��������^��� ú ü %bt

Holding pattern

detourshortcut

vector for
spacing spacing

vector for

����� � ����	�
����
��

MNACO0PN` � ÇX¿p©]ª·¨6®JÄ�³�±�¸¹®º³�±�²Ó©�§dÌp©�§d½n§R²�³]ªÅ²�Æ�³]µ�§8®�°]³«ª­±�²Ó±�¼±�²�§�°«±�²�³�©�±�´Å´­§R©q±�²>®4½�ª·²�Æ�´­§F®JªÈ©]°�©�®l¼â³¶É���®�°]µ�±J¼�³]µ�§Ó§RªÈÆ�µ�³¸¹±�¨X§R½=©�§dÌp©�§d½n§R²�³�½L±�²�§æÌ�±J½�½�ª·¿�´­§æ½i³�®º³�§�±�¼p³«µ�§2®Jª·©]°�©�®l¼â³¶É=è2µ�§®�©]©�±ºÃ�½ Í ±�ªÅ²pª·²�ÆÎ³]µ�§R½Ë§¯½Ë³�®º³�§d½�®�©�§ã³]µ�§Î¸¯±X¨X§¯½nÃ�ª­³�°«µ�§R½«åNªÅ²pªê¾³]ªÈ®º³�§R¨�¿�Ç�³]µ�§�°«±�²�³�©�±�´Å´­§R©dÉ�è2µ�§�¨X®�½�µ�¾ ¨X±l³n³�§d¨>³]©�®J²X½�ª­³]ªÈ±�²X½®�©�§ÎÄX½Ë§R¨6¼ó±J©�³]µ�§Î®J²�®J´ÈÇJ³«ªÈ°«®J´ ½Ë±�´ÅÄ�³]ªÈ±�²ÑÉqè2µ�§Î°«±�¸ÎÌ�´­§¶³�§Î½Ë§�³±�¼ ®�©]©�±ºÃæ½æª·½�ÄX½n§d¨F¼ó±J©æ³]µ�§�½�ª·¸¹Äp´­®º³«ª­±�²ÑÉ
�	tº#���Z;Z;_uNV��L�R6�<Z��æüæý�þ�
�üV|F/pþ��¶þ6�Åþ6�;����þ0�m�B�g�B�6��þ��·þ�������þ0�
��ýbþA�������6�����I�h�	�>�B�2*��:�;��r��>*�ý<���2���	�]�

�� ë,Ü ò à � é ò9ï Ý.é[é ò � ����� �� ä ð�ßjßjé í ã
â�é ì�ò à í á �!x	%
D�ý�þ���þ�� �X��� /pþ6����þ��s��ýbþq�^��*	���:��=�/pþ��	�h��ý�þ{oJþb�
�����6�:�?�F�]ý��	�2*JþBt(}�=2�3����/�þ6�hDE�>���h�����>��Dø�@�
�2�:��þ5��þb�
���A���Ñþdþ�/2�w�jD�ý2�-�]ý��8þ��	�����"ý��	�q�F���2�>��þ���=2�3vÑþ����
���Q�B�6��þ������	v2�ÅþAo�����=�þ��;%�t�üæý2�-��þ����b��/pþ0�E��ý�þA�©�B���V��ý����
��ýbþs
�üV|�*Jþ���þ6�;�����>�Fý��	�V�����2�>��þ4�nþ6�V���,�X�B������v2���>�>���Åþ��
���'��ý�þ^�]ý2�	�-��þ4���h���Nþ¶þ0/2�6+�vÑþ0�6��=
�nþ4��ýbþ��	�>�;�b�;���I�ºr��Åþ��
���q�>���q�	�����>�^���º���Nþ¶þ0/��Ñþ������>���>��=�/�þ'����/K
�üV|¤DE���>�
���Ñþdþ�/y=2�F�	�3������D¯/���DE�y��ý�þ������;�b�;���I�uv��'�2�	�s���	��þ
��ý
������zB�¯���g��ý�þA�6=2����þ6�<�Eo�����=�þ	t

x�t��
Z;N6ScP�H=� �bP�H=�cYT�2LBNbGIRB� d �"!Q#	i#��üæý2�-���^���bþ6=2o�þ6���6�	���
���������,�	�`�u/�þ6o����������	�����X��ýbþV�������6�����I�&�j���B���>���,�B����*	�������

r���*Jý<�E�2�-���5�j�	������ý2�	���h�����Îþq�©���������u���f��ý�þu�^���bþ6=��
oJþ��;%b+1����/w����þ��b�B��/�/pþ�o����������	�m+1v2�����2*	���2*��>�$v��	�;�5���
�>���u�B����*	�������&r
�>*�ýB�A�����	�K�©�������sx5������ý�þ����	��þ6=�oJþ6��%�t
üæý2�-�A������þb���]ýbþ��º��ýbþq������ý��©���
/'��ý�þ6��þb�j�B��þ�*�þ6��þ�������þ��
/pþ����.�2%�t¹üæý�þ3�Åþ6��*���ýy���e��ý2�-�$�^����þ�=2oJþ��º/pþ��Ñþ���/2�$�B�
��ýbþs*Jþ��	�8þb�����5���,��ý�þ3��þ��b���B��tº|��	�>�����2*�$&%y��ý�þ3���	�����
�����	�5�^�������>�{v����	�2*	�Åþ('V+�D�þ�ý��.oJþb�

�� Ý ì ßIã ú � �)$*%+� �� ä ð�ßjßjé í ã
â�é ì�ò à í á�� Ý ì ßIã æ � �)$-, æ %+� �� Ý ì ßIã ú �©�B%

�2tº#@��P�H�S[Nb��S/.103Z6S[P���H2�e�[�3��þ����;�����s���:��=������>�B���6+.��ý�þE
�üV|
DE���>��ý
�.oJþ9��ý�þ��	�>�;�b�;���I� ���b=2� ��vÑþ6�?D2þdþ6�3�?D9�t�Ëþb�?Dh�.���6+��
�^����þ�=2oJþ��ED�ý2�-�]ý8�6�	=2�-/Óþ6�>��ý�þ�����ý2�	����þ��{�B���Åþ6�2*	��ý�þ��
��ýbþ8r��>*�ý<�q�2���	�mt"üæý�þ�/�þ��b�-���>�B�����l/��F��=��]ý��y�^���
��þ�=2oJþ��y�-�y���I��þ6�ø/��-��������þ0/�v��ù�b�B��r��-���F��þ����	��=������	�m+
v2=��l�6�	=2�-/¯�	�����avÑþ�/��B��þ���� �ný��	����þ6����ý�þK��o�þ6�;�����
r���*Jý<�����>�8þw�:�3��þ��b���B�����6�6=2�����
�b�K�����>��D����:�(�©���	�8þb�
�����8þ����������·þ0/ ��/�����þ0�����T��� �sv��q���>�����;��%4�

�� ï â�Ü�ßjã ä ðbã � �3$*%+� �� ä ð6ßjßjé í ãXâ6é ì�ò à í á � �<%
��t54sP�U>_�GIRB���2L�S!S[ZbH�R6� �[�¤���	�8þ!þb������þ6�8þ)�6�	��/��>�����	�
�6+
ý2�B��/����2*���������þ����
������þ$=��nþ0/q���^�^�����B�;�����@���8�������6�����I�
���(�{r���*Jý<�A�����	�y�>�F�5*	��oJþ��w��þ6*B�>�B�w�	�������	�¶þ4vNþb�j�B��þ
þ6o�þ6�<��=
�����>���Åþb�����>��*4�>�h�j�	���>��D��>���h�B����*	�����	��r���*Jý<�h�2�-���mt
üæý2�-�^�-�q����/pþ6�Åþ�/Kv����B������*	�2���2*(��ýbþ'�������6�����I�����l*B�
���F�y�2��þ�/pþ6����þ0/�C��	��þ@���
/���þ¶þ6���>�2*y�>�^��ý�þ���þ8D�ý2���·þ
�2��þ6o�þ6�<�����2*A�	��ý�þ��9�����;�b�;���I�,�j���	�fþ6�<��þ������2*u��ý�����C6�B��þ	t

T�GB-J7814G@KCKC>�1 36;	7=ACG@-
�[�(�2�;�	�b���-��þB+=þ��B�]ýy�6�	�<�����	���Åþ6�$���A�>�F�]ý��	��*�þ3�	�h�@��þ��b���	�

/pþ6�Nþ6�
/pþ6�<�E�^�����>�3=2�ø��=2�svNþ6�h�	�f�������6�����I�º�©�	�{��ý�þº�	�;/pþ6�
���3xB�.�[�	zB%bt@üæý�þy�b�	�<�����B�>�Åþ6�5�b�	�
�?�;���<�������6���b�Åþ�����ý2���	=2*�ý
��ý�þº�nþ6�9�	�f�������6�����I��+<�	�6�¶þ6�����>��*3�����;�b�;���I�,�j���	����þ6��*Jý�vX�	���>��*
�nþ0�����	�;�6+<*	��o��>�2*4/�����þ0������oJþ0�6+����
/�ý��	��/����2*s��ý�þ6�¤���8���s��ý�þ
��þb���^�nþ0�����	�;�6t(�[���	=2�4����/�þ6�T+9/�����þ0�����>o�þ��s���;������������þ{�>�<���
��DE�>���]ý��>�2*A�6�	��/2�:���>�B���,vNþb�?D�þ¶þ6������/pþ���t�üæý�þ��b�B�<�����	���·þ��,���
��ý�=��4��þ6�2��þ���þ6�<��þ0/(v��(�	�����2�2=��^�b�B�<�����	��D�ý2���]ý��	�b��=�����þ��
��ý�þu�	�>�;�b�;���I�0+��B�6�6�	�;/��>��*s���s��ý�þA/��	�Nþ���þ��B�E�X�B������v2�Åþº���;�������:�
�����	���E��ý2��DE�5�>�@ýg��*	=2��þAx�t

798 ' ÷	ö;:U�Qô�ø ��ô+�w(<:5=Xû�= ÷?>sø+'$(��":5=
*�'=ô+' öJ��õ@'=øA@B: %�' öJ*
ûnô�* !Â÷)#C=


K*B����/3�2���	�X�	�������	�3���1�����f������pq� �����^�&���Q*Jþ6�bþ6�;����þ0/Av��
��þ0�?�����-�����>�B���{�>���X�B��þ�/)���8/�þ��������������>�B���������
�B���;�6+�=
��=��	�>���
��ý�þ��^�nþ��>o�þ���/2����oJþ���v���D2þ0����ý�þ6�q�B�{�	�>���
�B�����6�	�2*�þ��������	�mt
üæý�þ���þs��þ��������-�������	�
�V����þA�����
�<�nþ0/��	��þ6�>��ý�þ��������·þ0�?�c�����!�����	�>�
�	�,�����<=2��þ����c�>���T���;�����T+���þ��2��þ���þ6�<�����2*º��ý�þ�/2�������	����þA�©�	�&�����8þ0%
��þ0�<=2�>��þ�/5vNþb�?D�þ¶þ��Óþ0�	�]ý@�����;�b�;���I���������8�>�
�b�	�����2*^r���D����
��ý�þ6ü���
V|E}Âÿst	üæý�þ6��DE�>����vNþ5��þb�áþ�����þ�/l���F�	�8\^Z6ScZ6H�GIR6�
N;P�R2Y�STH�L�GIR
S©Y�t�ýg�>*B=2��þ8�y���>��=������;����þ��4��ýbþ8���	�X�	���	*B�F������ý�þ
r���D��f�>���6�	�����2*����$���	�3ý����	���b�-���6�3�T��ýg}$%�D�ý2�-�]ý3����þe�	�I��þ��
��=�v@�Ëþ��b�A���@��ý2�-�u�?���Ñþ������b�B���?�����	�>�<�0t�üæýbþ���þq�b�	�
�?�����	�>�<���
��þ���/4���u�2���	�
��*B����þ�v��	�;��Dh���;/2�f�j���B�ù��ý�þ��������X�	���,�>�<���$��ý�þ
��þb�?D��	���`+��	��/���þ���=2�>�8���a�4���Åþ����T�����T���;�����$�6�	�������;�����<���{�>�4�
�
�<�nþ0/q���9��ý�þÂþ6�<�������X�	���B�;�e�	�=þ��B�]ýq�nþ0�����	�0tgý��	��þb�2�����2�Åþ	+

D ��
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




50 100 150 200 250 300

100

150

200

250

300

ZOA32

ZOA13

ZOA15

ZOA33

ZOA34

MNACO0P+^ g��@>�1:KC3�[XGB/o78143��V>L;	78GB1:AC>L5pEH>�14O@AZ-0O"AC-J78G z�3B-M01436-<; AZ5=;	G��.QBQ�YjG@901:5vGB/+78143��
;��4PFS�Y0>WI036783_EHGJI0>LKC>LI;	G@EH>L5�/214G�E stS	�Xz�36-<I�M�R�T�s�SoP�u
�>����ý�þ$�6�B�nþ����fýg��*	=2��þ$�2+<�?���2���������>�B+<��ý�þºv��	�;���2���	�
��*B�������	�
���9��ý�þ0�nþ^�8þb��þ6���>��*��b�	�
/��:���>�B���$�-�A�	�º�j�B�>����D��:��ü���
V|E}Âÿ
 ��þ������	���L� 
 �nþ0�����B�E�	� 
 ���	�:���f���Jþs|2þ��B��þ6� � �2�����
/
�������>�-���������j�	�E��ý�þ$�?D9�4����ý�þ6�hr
��D��6t
�[�s��ý�þh�b=�����þ6�<�g�����?��þ6�8+.��ýbþ���þ9��þ����������b�����	���f����þe�����
�<�nþ0/

���	��þV�	���Åþ����2þ����2�>���-�6�������	t���þ$D��	=2�-/^���>��þV���3=���/pþ6�;�������
/
d G i�ý2��D���ý�þ����;��pq� �����^�,�2���	�
��*B����þB+ d GIG i�D�ý����e�ný��	=2�-/4vÑþ
��ý�þE�B�������^���2�6�	�<�����	���X�	�����6�u����þ�����=2��þh�^�������^������ý����B=2*Jý��
�2=������<���4��ý�þqü��V
V|E}Âÿ�=2��/pþ��h��ý�þ0�nþu��þ����������b�����	����t
zJ>L;	7VGB1oGb�@>�1:KCGB36I�D<14>LI<AZ;	7=AkG@-
�[�H���.��þ6�q�	��/^���Tt>+ ú þ��3�������2�·þ�����/�þ6�X���m�8þ6��*	���2*ur���D��

D�ý2�-�]ý��2��þ�/��-���;�q��ý�þ'v��B�;���2���B����*<�����>�B���	�s�F���;��pq�|�����
�j���B� �w/pþ0�?���>�
�������	���������X�	���s���<���w��ý�þ5��þb�?D��	���`+,D��B�s�����
������/�=���þ0/1t¹üæý����$����/pþ6�Q�����wvÑþ^�����2�>�Åþ�/'���5��ý�þ��Îþ���*B�>��*
r���D��f������ý�þ9�?�<�NþE�ný���DE�A�>��ýg�>*B=2��þ���t ��þ�DE�����<=
�nþh�>�Lý�þ���þ
���8/pþ6����oJþ3��ý�þ'_�W�RXL�\4G©N5N�L;�2LBNbGISTW@���h�{��þ��b���B��+1�Tt þBt3��=2�4�
vÑþ��h���f�	�>�;�b�;���I�9��ý����E�����{vÑþ$�	�b��=�����þ�/��>�5�>�u�©*	��oJþ��q�>�2r���D
����/��	=���r���D �b�	�
/��:���>�B���;%�+`vÑþ6�j�	��þs������=����������	�@�-�V��þ��B�]ý�þ�/1t
��þ����	��oJþ0/F��ý�þ8�j�	���>��DE���2*y�2���	v2�Åþ6�W���hG �.Z6R�LF\^Z6ScZ6H�GIR6�

�nþ0�����	����� �nþ0�����B���	�


�üV|)�	����=������>�B�
�©������D��2þ0�	�]ý8�������6�����I��/���DE�
%
þ�/2*Jþ$���f��ý�þ$������p^�����	�


�� 
������ � ��� �

������������� �"! #$��%&%('#$� 
)� 
���� '*%(' �������������,+*%$-
MNACO0P)a ÊQè .¥°«±�²�³�©�±�´N®�°«³]ªÈ±�²�±�²�³«µ�§¯¸¯§R©�Æ�ª·²�Æ¹Á�±ºÃÂÉ�è2µ�§³�©�®ºÀ�° Í ®J¸ §*/J³�§R²X¨p½¹¼á©�±�¸103254f³�±�³]µ�§Ó§d¨XÆ�§Ó±�¼æ³]µ�§ÓÌ�´­®º¾³�±�±�²4¸¹§�³�§d©�§d¨�¿JÇ76,8�9�:(;5<>=@?5A BDCÚ±�²�§8®JªÈ©]°�©�®l¼â³Â§¶¬�§R©�Ç76,8�9�:(;¸8ª·²�Ä�³�§R½$E]É�4�²X°«§Â³]µ�§ã®�°]³«Ä�®º³]ªÈ±�²8Ì�±�ª·²�³FCá§d¨XÆJ§Â±J¼»³]µ�§Â³�©�®ºÀ�°Í ®J¸GE
µ�®�½�¸¹±R¬J§d¨�ÄXÌp½i³]©�§¶®J¸HC�ªÅ²l³�±¹½n§d°]³�±J©JI�I�E«åp½n§d°]³�±J©KIML8ªÈ½°«®J´Å´­§R¨�½Ë®º³«ÄX©�®º³�§d¨NÉ

N;P�R2Y�STH�L�GIR
SQP��ONQP Ü�ðbã �,N�P�\��`��ScZuL^N;P�R�STH�P�UIU>Z6H,��P�U:G©NbW �$��G©N8�
�,GIUIU;�bP�H�N;Zo�	H�P��0�XY4P���L�GIH�NbH�L��;S�S[P¯þ6�2�	�����>�(Y6L�S!G-Y��;W5S ��Z4\�Z:�
ScZ6H�GIR6��N�P�R2Y�STH�L�GIR
S9L�S9S ��Z$Y6Z;NbS[P�HuZ$RBGIS`��P�GIR
S d Z;L	N8��L�GIH�NbH�L��;S
G-YAY6Zc��L�H�L�S[Z�_
�6W5Z(R�L	N6S!U:WSNTP Ü�ð6ã i��$��GIU>Z^\�L�GIR�S[L�GIR�GIRB�{Y6Zc�<�
L�H�L�S!G©P�R�tQý��	�Q��ý2�-�6+�D�þ��>�<������/�=��¶þ�/���ý�þV���2�>���-���X�
�<���>�����	�VU ç ����h�������6�����I�����	��/���ý�þ^�����������>�B�p� é W D�ý�þ6��þ4��ý�þ��8þb��þ6���>�2*�b�B��/��>�����	���-�����4�X�B��þ�/m+�� �YX ��Z([]\ED�ý�þ6��þD[���þ6�2��þ���þ6�<���
��ý�þ����	��������=2�svNþ6�4���V�	�>�;�b�;���I�0t ��þ{�6�	������/�þ6��þ�/(��ý�þq�j�B�:�
�>��DE���2*w�2���Bv2�Åþ6�W�������E�������6�����I�3����þ����2�>���-�����>�����3�^�������^���
���Nþ¶þ0/ � ë ì W +��	��/K�>�)�	�;/pþ6�����éþ6���j�B���¶þ��8þb��þ6���>�2*
+�
�üV|������D��s/2��DE�������;�b�;���I���$���y�'�4���2���s=2� ���Nþ¶þ0/ � ë,à í �©��þ¶þýg�>*B=2��þ���%�+X���V�������������>�B�F� ï_^ à ã ä â� �	��/{�����Îþ �

ï_^ à ã ä â
� D�ý2�-�]ý

D2þ�/pþ6��þ6�����>�bþ�/1t8üæý2�-�º����þ������������-�$��þ��2��þ0�nþ��<��þ�/'�>�(/2�B�ný��
/����Q���qýg�>*B=2��þVx�t���þV�>���X�B��þ�/3��ý����
þ��B�]ý^�������6�����I�e�b���B���nþ0�
��ý�þº�8þb��þ6���>�2*3�
�B�>�<�t� é W ����þb�2�	�b����� � è õ Ü äa` 
�� �cb_�.%dNTP Ü�ð6ãD�ý�þ6��þ � è

õ Ü äa` ���º��ý�þ������8þ4D�ýbþ6�y��ý�þ��8þb��þ6���>��*8�6�	��/2�:���>�B�
D��B�4�>���X�B��þ�/1t�üæý2�-���·þ0�	/2�4���y��ý�þ8�j�B�>����DE�>��*w������þ6�^�������
þ��<=��������	���h�	����ýbþA�������6�����I���
�j��� � %��eU ç � 
 � ë ì W � �

�fX zgZ � ï�^ à ã ä â� \
� � � � %��ih � 
 � ë,à í � �

�fX
�
ï_^ à ã ä â
� Z � è õ Ü äa` 
)� �jb �.%dNTP Ü�ð6ã \

üæý�þu�	����=��4�2�����	���	�g�6�	�<������=2�:�?�^�	�$� � � � %
þ�����v��·þ0�e���^���B�>o�þ�j�	�Gh � +&�j���	� D�ý2�-�]ýlD2þ{/pþ�/�=
��þq��ý�þ8��DE�>���]ý2���2*@���>�8þ{v<�<�
�
ï_^ à ã ä â
� ���ah=�5bfU ç � %(k�� � ë ì W b � ë,à í %bte~��
/pþ6�E��ý�þu�j�B�>����DE�>��*�áþ��B����v2���>�>�?���b�B��/��>�����	����+

U ç �ml � é W b � ë ì W � � è õ Ü ä�` bK� �jb �.%dNTP Ü�ð6ã %
�	��/ U ç �mn � é W b � ë,à í � � è õ Ü äa` b����ob �0%$NQP Ü�ðbã % �!�	%

D2þ$D�þ6��þº�	v2�Åþ����q�b�B�4��=���þu���
�����B�����������>����ý�þu�2���	���	*B�������	�
���Nþ¶þ0/5���&��ý�þA���;��pq�t�����8+�v��5���B�>o����2*4�j�	�E��ý�þA�����������>�B�5�	�
��ý�þ�þ0/�*Jþ$�	����ýbþ$���;��pq�������¤���@���
�	��þu�	��/q���>�8þb�
�
ï_^ à ã ä â
� � p*q_r ,ts(uwv x(y�z|{ }�~�� ,j�k��, ú|����� ,c�@��s(uw� r ,cs$u�v x�
ï_^ à ã ä â
� � U ç � 
 s$u�� r*� p"q_r ,cs$u�v x$y�z|{ }�~���,o�k��, úd����� ,5�@����s u�� r ,ts uwv x ���B%

D�ý�þ6��þ�NT��� � � ë,à í NTP Ü�ðbã �-����ý�þ$�8þb��þ6��þ�/{�����B�b���2*�������ý�þ�	=���r���D)�	����ý�þA�nþ0�����	�0tg�c�E�j�B�>����D��h/�����þ0�������q�j���	�����B%9��ý����
��ý�þs���;��pq�n���	� DE���>�g�2�	��*	����D)�>�,��ýbþA�?D��^�j�	���>��DE���2*��6�	���
/��>�����	���E�	��þ$�8þb�	�

�
ï_^ à ã ä â
� � �

ï_^ à ã ä â
� � ú � NS� � U ç � b�U ç � � ú�

ï_^ à ã ä â
� � ú � �

ï_^ à ã ä â
� � � s$u�v x����� ��� s$u�� r� �� ,c� ����3��� ����%

~V���>��*3��ý2�-�6+2�>���-�h�©����������þ0�	�������^�2��þ�/��-���E��ý�þ�_�W�R`L�\4G©N�N�L��
�2LBNbGISTW��	�A�F�nþ0�����B��t ��þ��2�-�	��þ@�B=2�;�nþ��>o�þ������K��ý�þ�D��	�;���
�6�B�nþ'����þ����������J�(D2þy�b�B�����-/pþ��{���)�>���6�	�����2*lr���D �	�s�������
�b�;���I�0+�þ��B�]ý5��� � ë ì W +
��þ6�
���;����þ0/����5�����8þAv���NTP à í �]ý2�<�nþ�����@o����	�-����þ4��ý�þq�nþ0�b�B��/(�b�	�
/��:���>�B�(�>�����	%�tsüæý����uDE�����9�b��þb�
����þ$�4������pq�����	�¤�B����*	���������>��*4������ýg}3+�D�ý2�-�]ý ���2���Åþ��h=2� �
����/w�2���	*B��þ0�����>o�þ6���5���>�-�A��þ��b���	�u�L��t{|��������>�2*D�9��ýbþ^�·þ��2*���ý
���h�nþ0�����B�A���8�����	�2*5��ý�þ^�^�������Ëþ6�?D��.�B+mD2þ�=���þ�þ��<=��������	���
���<%������6�	���2=���þu��ýbþs�^���������	�m��=2�svNþ6�����Q�����;�b�;���I��*	�B�>��*
��ý2���	=�*Jý���ý2�-�u�nþ0�����B�$vÑþ6�j�	��þ3��ý�þ8þ�/�*�þ3�	�e��ý�þ4���;��pq�������
����oJþ������8��þ��b���B�A�	�y��_�W�R`L�\4G©N8N�L;�2LBNbGISTW<%b+,����/'��ý�þ����>�8þ
�:���bþ¶þ�/������^vNþu��þ0�	�]ý�þ0/1t ��þu*Jþ6���

[ õ à ë,à ã � ��� � ë ì W b � ë,à í %� ë ì W � ë,à í �aNTP Ü�ð6ã bfNTP à í % ���B%
  ��
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




0 100 200 300 400 500 600 700
0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

−x
e
 

initial positions 
a

i
o of aircraft 

shock   (x
i
switch , t

i
switch)

−x 

t 

metered  platoon 

metered  platoon 

non metered  flow

t
m

 

x
m

 

MNACO0P�d zJe�AC78;�Y<AC-0O ; 9014�@> � 5=YjGj;:it��/�GB1�3 �L3B-0AZ5=Y<AZ-0O78143���;J�V3@E�P � I0>L-0GB78>L5+7=Y0> I<AC58783B-<;�> 78GH78Y0>|EH>�78>�1:AZ-0OD]G@AZ-�77��zjMwgQ�=PtS�Y0>�KZAC-0>L5|3b14>p78Y0>�78143��V>b;�78GB1:AC>L5�G6/�7=Y0>36AC1:;	1436/�7�AZ-
7=Yj>�� �����	� 58D<3B;�>�PnS�Yj>�D]G@5=Ak7=ACG@-<5�GB/ 3BAk1�;�1:3b/273b1:>o14>�D<14>L58>b-�78>LIH>��@>�14[WQ�
�
�
 58>L;bP�3B5�IjGB7=5	P�g�-<;�>�78Y0>�[Y03��@>�OBGB-0>v7=Yj1:GB90O@Y
7=Y0>v5=Y0GJ;�i~?J7=Y0>�[F3b1:>vEH>�78>�14>LIf��367G@-j>�36AC1:;	1436/�7 >��@>�14[�
 ?5A B���� 9�:(; �4P�S�Y0>|D]G@AZ-�7�� ����������� AZ57=Yj> /�90147=Yj>b587�14>�3B;:Y03b�~KC> D]G@AZ-�7��j[�7=Y0AZ5�78143���;	�V3@E�P
P õ à ë,à ã � �

� ë ì W � ë,à í �
ë ì W NQP à í b � ë,à í NTP Ü�ð6ãNTP Ü�ð6ã bfNTP à í ���B%

�Xþ6o�þ6�;�����6�	���8þ6�<���9�6�	�^vÑþ����B/pþ���þ6*<���;/��>��*���ý�þ��?D��A�2��þb�
o��>�B=��E��þ���=2�:�;�:� d G i$
�� � ë,à í b � ë ì W 
 z2+c[ õ à ë,à ã 
 zJ�e�2�
�������6�����I��������vNþãý����
/��·þ0/q���q��ý�þu�nþ0�����B���B/2/��>�����	���	�X���3��ý�þ
�������6�����I�&�	�>��þ��B/��u��ý�þ6��þ	+BvÑþ0�6��=
�nþh�2�A�B����=
�������	�4�-�,�
�<������v2�·þ
�j�>�º�-�º�2���$�X�B������v2�Åþs��� �����	�Jþu��ý�þ^�������6�����I�V���B��þs���>�8þ,�{���
��ý2�-�g�nþ0�����B�;%b7 d GIG ie
��jNTP Ü�ð6ã bmNQP à í 
 z2+ [ õ à ë,à ã 
�� ���
/P õ à ë,à ã 
�� ���>�Q��ý�þs�����b�B���>�2*qr���D����º��=
�]ý8��ý����º�>���-���	�:�
���B���9�8þb��þ6��þ�/q�B�Q���4�X�B��þ�/����e��ý�þÂþb���:�����1��ý�þº��þ��b���B��+	��ý�þ
��=2�svNþ6�4�����	�>�;�b�;���I�3��þ0�B=��>��þ�/(���w������=2������þ���ý2�-�3�	�>�;�����	�¶þ
vÑþ0�b�B�Îþ0�s�-����*Jþq�	��/(��ý�þ����>�8þ5�:�3���	�Jþ��A���y������=2�;����þq��ý����
�nþ0�����	�h*	����D��h�	�6�6�	�;/����2*	���	t
� 3��0AZE�9~E >��j7V>b-�7�G6/�3�78143���;K�83BE
üæýbþ(�6�	��������=��b�����	�)�	�s��ý�þl��DE�>���]ý��>�2*K�b=���o�þy�B�yY ��P�N! 

� �
ï_^ à ã ä â
� Z � ï�^ à ã ä â� %�/pþ����b����vÑþ0/��2��þ6o����	=������	+e������vÑþ@=���þ�/����

�b�B�4��=���þy��ýbþy�^�������^���A�����	�¶þ�þ6����þ6�<�@���������;��pq�H�����
�©/pþ6����þ0/��B�4��ý�þ8�X�	�������	�������Ëþb�?Dh�.�����+þ��b��þ�/�v����w���;���I�
�
�������q%�t�~V�����2*F���B%b+m�	�bþ4�����w���;�	��þ3��ýbþ���ý2���;�@�����������>�B�
�>����ý�þ^���oZ � %������	��þ4�!ýg�>*B=2��þu�	%bt�üæý�þ$�������>�3=2�l��+2�������·þ0/
�#"3+��	v2��������þ0/���� � "�*	��oJþ0����ý�þwD9�B�����{���:��=������>�B��D�ý2�-�]ý
ý������Ñþ�����DE�:��ýK��ý2�-�q/��-�������>v2=2�����	�����u�������6�����I�4��o�þ6�4�����8þ	t
�[�K��ý�þ����	��þ@���Aýg�>*B=2��þ'��+hD2þ���þ¶þ8��ý�������ý�þ@������pq�v�����
/��Xþ��h�2�	�E�2���B����*<����þV���	��þº��ý��	�5�Bz	z3�2�µ=2��������þ��	�ø�j���	�
��ý�þE���>���X+L� é W tLüæýbþ6��þb�j�	��þe���º�8þ6��þ6�����2*º�6�	��/2�:���>�B���&�ný2�B=2�-/vÑþq�	�2�2���·þ0/'=����?����þ0��� �j���	� ��ý����A�
�B�>�<��t��[�y��ýbþq�b=2����þ��<�
��������þ��5+2��=��]ý5�>�2�j�	�����������	�5���h�����V�.o��������	v2�ÅþV������ý�þu
�üV|�+
��ý�=��V�·þ0�	/����2*����sþb�����;��v2=��+þ6�;�E�;���Jþ��8v<�{��ýbþs�b�B�B�����B�>�Åþ6�;��+
D�ý2�-�]ýl�>����=2���l�Åþ��B/2�A���w���	�l�B�������^�����	�Nþ6�;�������2*'�6�	��/2�:�
�����	���e�	�QD�þ6�����B�,v��	�;���2���	�
��*B�������	�3��� ��o�������=����2��o�þ6���>�<�	/ ��+
�>�5�©�B�����^�nþ6�E���,�b�	�
�nþ���o������>o�þ�����þ0�6��=2�����	����t

��ûËö õpö�� �fúX!�÷$# =Xû.%/ù�( ��õ�ûn÷
ô =
üæýbþu�4��/pþ��������&��ý�þu����þ�o<���	=
�E�nþ0�������	�8��þ6�����B�8���^����ý��
þ6�^�����������&�����	�>�����������9�Îþ6��þ������2*�+`v��B�nþ0/��B�'*Jþ��	�8þb�����Bt$�[�
�	�;/pþ6�&���u=2��/pþ��������	��/Îý2��D���þ��	�>�-�����-����ý�þ0�nþE����/pþ6�-�Q�	��þB+�D2þ
��þ¶þ0/����8o.�	�>�-/2����þ3��ý�þ�����*<������������ý�þ���þ0���,��������þ��5t^��������þ
��ý�þ3��þ0���g��������þ6�¬�-�V�2�	���.o��������	v2�Åþs�	������þ0�?��vÑþ0/1+`D2þ3��þ¶þ0/
���8��v������;�	�b�����	�q�	�g�>�ED�ý2�-�]ý{��þ6�2����/�=��¶þ����:�;�EvNþ¶ý��.o����	�h�	/��
þ��<=�����þ6���	t9ý2�	����ý2�-�6+
D2þ�ý
�.oJþu�b��þ�����þ�/8�^���>�3=2�-�����B�ED�ý2�-�]ý
���>���-�6�E����=bþs
�üV|)vÑþdý��.o��>�B�V����/@�	*B�	�>������D�ý2�-�]ý@D2þuo��	�:�
��/�����þu�B=2�E�2��þ�/��-�����>�B����t,�c�V���h�>����þ6�>�,o�������/2����þ0/5�	*B�	�>��������ý�þ
��þ0���$��������þ�� �I��ý����5DE���>�uvNþ'��ý�þy�j���b=��5���s��ý�þy��þb������þ����
�����	�
%bt<üæý2���8���>�3=2�-�����B���-�5v��	��þ�/��B�"þ��4���>���������$�?��=�/��Åþ��
��ý����3D�þ���þ��	�>��C¶þ0/l���3��ý�þ�}º�����-����/F
��LüV|E|�+&�>�����b�B��þ����
v��	��þ�/��	���Bv��nþ���o�þ�/8vNþ¶ý��.o����	�0tºýg��*	=2��þ4x'�©�	�>�g���;���
���>�����	���
þ6���	v2�Åþ�/�%���=��4�^�	����C¶þ0����ý�þ3vNþ¶ý
�.o<���	�º����/pþ6�&�	v
�nþ���o�þ�/@���
��ý�þ�
��QüV|E|�t2üæý�þ'��DE�>���]ý2���2*F���	*	�-�5vÑþdý2����/���ý�þ����;�������:�
�����	����������ý�þA�	v��Ëþ������	�f��ý2�-���nþ0�����>�B�m+����
/��-�E���4���·þ��Îþ��<��þ�/
�>�5��ý�þ$�j�	���µ���&�^�b�<�?�h�j=2���b�����	�m+
/pþ����b���>vNþ�/{vNþ6����Dut

Initialize all aircraft flight plans 

flight plans

update aircraft
positions

aircraft 
selection 

maneuver 
computation

wait

update flight plans

aircraft simulation storage

start

controller emulation
(copies run in parallel

for each sector)MNACOjP%$ yn1:G6OB143@E'&~GLe�GB/�7=Y0>|5=AZE�9<Kk3678GB1�P

g��@>�143BKZK yn14GBO61:3BE MNKCGbe
üæýbþA��oJþ����	�>�1�2���	*B���	�ør���D����&��ý�þ3���>�3=2�-�����B���-�V��ý2��DE�

�>��ýg��*	=2��þF�2t�üæý�þs�>�2��=��V���^��ý�þ3�b��/pþA�-�V�^��þb�V�	�Q�������6�����I�
���Åþ�/@r
�>*�ýB�$�2�-�������!ýf��*	=���þS�2+1����/�/��·þ^�6�	��=2���
%�+`��ý����u�6�	�
þ6�>��ý�þ��QvNþ�=���þ6�,*Jþ���þ6�;����þ�/3�	�,�;����þ6�3�j���B�¯�
ü��w�3/������^�!�	�
�>�yý�
V|��
ü�%btm
V�º�>�w��ýbþ3����=bþ4�����?��þ6�8+`��ý�þ0�nþ4r���*Jý<�$�2�-�����
����þ��2�	�5�b�B��r��-���{�j��þdþw���
/�=���=������>�K/����2���8�������-�?�j�K�8þb�
��þ������2*��b�B��/��>�����	���A�>���X�B��þ�/y�	�y��ýbþq��þb�?D��	���`t5}����¶þ���ý�þ
�2���	*	�;���÷�-�u���2�:�����	�>��C¶þ0/1+f�	�>�;�b�;���I�u�������>�B�y�����s=2�-�����>�B�'�j�B�:�
�>��D��f��ý�þ���þer
�>*�ýB�,�2�-���
���!ýg�>*B=2��þO�2+	�·þ6�I�,�6�	��=2���
%�t,
������>�8þ
���f�	/�o��	����þ0/1+��b�	�2r����b�g�B�mD�þ6���B�	���8þb��þ������2*º�b�	�
�?�����	�>�<��������þ
/pþ��	�:�&DE�>��ýs�B�3�º�nþ0�����	��v��A��þ��b���	�gv��B���-�9�©DE�:��ý4��þ��b���B���cDE��/�þ
�>���B�{��ýbþ��	/m+Xýg��*	=2��þF�2+X����*Jý<�V�6�	��=2���
%�+1�	���b�B��/����2*4���q��ý�þ
�j=2������=����	�^�����	���ný���DE�3���^ýf��*	=���þ�x�tQüæý�þhr���*Jý<�,�2�-�����e����þ
=2�`/2����þ�/8�	���b�	�;/����2*	���	t
(v>�[*) 3b783WzJ781:9<;	7=9j1:>L5

V�>�;�b�;���I�Q/������	�����æþ0�B=
�������	�
�����.%g�2����/�=
��þ��u��þb�Q���1��þ6*��

�8þ6�<����7���ý�þ��<����DE�·þ0/�*JþF�	�4��ý�þl�X�	���<���'�6�	�2�bþ������>��*K��ý�þ
�nþ�*	�8þ6�<�;�4�	��/l�	�V��ý�þ@�������6�����I�3oJþ��>���6�:�?�F�-�4��ý�=��Îþ6���	=2*�ý
���@�b�B���2�·þ6��þ��>�y/pþb���bþq���(�������6�����I�º�������Ëþ��b���	���	t8üæý2�-�$���;���
�Ëþ��b���	���'�-�$��ý<=
�A���4���·þ��Îþ��<��þ�/F�B�A�FU GIR� 	Z;_'U G-Y�Su���9�2P�GIR�S!YX �jZ � Z.��\c+	DE�>��ýq�$�2��þ����b���>vNþ�/4o�þ6�����6�:�?�svÑþ6�?D2þdþ6����ýbþ��
�B�>�<�;�6tüæý�þ$�>���2��þ�/{�>�-�?�E�-�h����/2�:�bþ0/�v��^��ý�þu�����s=�������þ�/5�b�B�<�����	���·þ��

1 ��
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




�>�3��ýbþE�2���B*	�;���8t=üæý�þh�B=����2=2�,�j�	�Qþ��B�]ý3�����;�b�;���I�&���g��ý�þE=2���
/2����þ�/��>���2�Jþ0/����-�?�0t	üæý�þu�nþ0�����B��������þº�>���2�Åþ6�8þ6�<��þ�/5�	�h�nþ6���
���f�B�6�¶þ�������v2�Åþ����>���Jþ�/{����������t�üæý�þ6���	�����3�6�	�<���	�>�5�	/2/2�:���>�B�����
/2���;�8��=��]ý(�	�º�8þb��þ6���>��*8�6�	��/2�:���>�B���^�j��=2�3vÑþ��A���h�������6�����I�
��ý2���	=�*Jý8�3*B�>o�þ6�5v
�B=2��/2�	���^�Nþ6�������Îþu=��2�:��%�t
T�GB-J7814G@KCKC>�1vstE�9<Kk367=ACGB-

�üV|�vNþ¶ý��.o����	�Q�-�Q����/pþ��·þ0/�v<�3��ý���þdþ��·þ�oJþ����,�	�1�2�����	���>�?�0���H�G©P�H�GISTW��#�� 3P�U�P.Y;Y5P���Y6Zc��L�H�L�STG©P�R��>üæýbþq�2��þ6o����Åþ6�<�3��þb�

�<=2�>��þ6�8þ��B�E�j�B�V
�üV|��-�h����þ�����=2��þ$��ý����º�����{�	�>�;�b�;���I�����	�>�
���E�	�>Dh�.���h�nþ������;����þ�/qv��{�4�B��þ���ý
�����3����=����������1�����·þ0�6t��H�G©P�H�GISTW�������Z6S[ZbH�GIRB�5N;P�RX_�GISTG©P�R�Y	�2üæýbþA�b�	�<�����B�>�Åþ6�h��þdþ�/2�
���>þ6�
��=2��þ8��ý
���^��ýbþ@�	=���r���Dµ�j���	�:ý2�����nþ0�����B�����q�	���	���
��þ������	v2�·þ��>�2r���D �j�	�w��ý�þ���þ6�<�F��þ������	�K�j�B��ü���
V|E}Âÿº%�t
�6þb��þ6���>��*��b�B��/��>�����	���º�6�	��vÑþ3���Qo��������	=��V������=2��þb���	/����>���
���	����þ$�;����þ$�B���nþ������;�����>�B�{����/���DE�
�?����þ0���h�?=2���b�����	����t��H�G©P�H�GISTW�
 �
��Z�Y�S,��P.Y;Y�G��6U>ZqS ��H�P��L� ���X��S��^
�üV| DE�>���,�����@�>�
�
�<������v2�·þ8���F*	��oJþ�/�����þ����q���	=2��þ��^���l�����;�b�;���I�^�>���B��/�þ6�����
���>�2�����>Cdþ$��ý�þ��>�hr
�>*�ýB�E���>�8þ
üæýbþ���þu�2�����	���>���Åþ����	��þu�2=2�V�>�@�^����ý�þ��������-�6�	�m�j�	���¤DE�>��ý
ý�þ6���8���&�4�6�B���E�j=2���b�����	���,+�D�ý2���]ý8D�þ$�2��D�/pþ6����þBt
�
� �b�<�?��������
��b�B����� Û è ßjé ì�ä â 
��b�B��� ò é[õ ì Þ 
�b�<�?� ì à ß ä ß ì ñ ã ì�ä ã!ð ì ã©à Ü í 
l�6�B��� ë ì�í é[ð6ö�é[ß 
��b�<�?� ë,à í9ò à ï ã
�e�B�]ýq��þ���� ���f��ý�þA�6�B���h�-���4D�þ6��*Jý<��þ0/q�j=2�
�������	�)�
��� � ��v � ~ � ���  ! " #%$ & " ')(+* <-, '.(/*6,8 "')(+* 0

� ��v � ~ ���1�  !" #+2 ¾ 8 "35476�8�9;: À 2 <-, 35476�8�9;: 0� ��v � ~ � ���  !" #%$ � "? 8 B 6 :=< 6>4 0
� ��v � ~ ���1�  !" #%$ ¾ 8@?BA "C 476�DFE 8@?GA

"
476�8�H Àg<�, D56>H 8>I

0GJ ? 9>< 6�D <�,LK A B5M H 6 ? 9�< 6 0
� u�� r! " #%$ON ¾QP

"?5A B Àg<-, D A K ;
R/S�T P.Y;Y4P��sY6Zc��L�H�L�STG©P�R d TVU #	i{N;P�Y;S<�XW ��Y��� �-����ý�þ3��=2�4�vÑþ��3�	���>�<����þ��s���V��þ6���	���������	�F����o	�	��o��>��*'�������6�����I���$�>�l��ý�þ
�b=2����þ6�<�s�nþ0�����	�uDE�>��ýl�>���3�b=2����þ��<�ur��>*�ý<�A�2���	�mt7NTP ��Y��� �����ý�þ������8þ�=��B���>�X��ý�þV�
���������B���9������þ6���	���������	���j�	�E�	�>�;�b�;���I���;tZ[S �VP���RX_BL�H�W|�bH�Z�LBNV�8N;P�Y;S<�OP �è ß©é ì�ä â ���e��ý�þ������8þVv���D�ý2�-�]ý�����	�>�;�b�;���I�9o<���	�-����þ��e��ý�þmNTP������8þº��þ6���	���������	�q�6�	�������;�����<�
�j���B���:�;�9����þ0/pþ��¶þ������B�V�©��þb�����3C¶þ6���s�>�m��ý�þV�?D��3�	�>�;�b�;���I������þ
�nþ������;����þ�/�v<���4�B��þº��ý����7NTP�%�t\�S 04ZbU�L�W'N;P.Y�S<��P�]_^ �Ý6ß©é ò b P�]_^ �ßjé ì õ �	���b�B=2�<���$�j�B�$��ý�þ
/��	�Nþ���þ�����þyvÑþ6�?D2þdþ6�a�2��þ�/��-����þ�/)�	��/a�	����=����º���>�8þ(���3�	���
����o����º��P�]_^º%s���s��ýbþ{�-�	���3Dh�.���
�B�>�<�s�	�E��ý�þ�r��>*�ý<��t��&�B���
�:���>o�þs/pþ����.���V�	��þu�Nþ6�
�����>Cdþ�/17+þ��	�����Åþ6�V�	�����>o��	�����	��þA�©�.o	�	��þ�/mtP�]_^ �Ý�ßjé ò ���
/ P�]_^ �ßjé ì õ ����þ��6�	���2=���þ�/�v<�����<��þ6*B���������	�q�	�
��ý�þ$r
�>*�ýB�E�2�-���
���j�	��þ0�	�]ý{�	�>�;�b�;���I�0t`LS "�GIH�N6H�L��;S3LBNbST��L�STG©P�R)N;P�Y;S<� [ ë,Ü[ö;é ò �	���b�B=2�<���s�j�	�3��ý�þ
��=2�svNþ6�E�	�mr���*Jý<�E�2���	�{����/��>�
�6�������	���E�]ý��B��þ6�����{��ý�þA�6=2���
��þ��<�f���B�>=2�����	�mt)�f����*Jþ [ ë,Ü[ö�é ò �	��þ,�Nþ6�
�����>Cdþ�/^�I��ý�þ9���	��=����>�B�
�]ý2�B��þ6�{v��q��ýbþA
�üV|��-�h���I��þ6�5��ý�þA�����4���·þ0�?��%�ta[S �'L�RXZ6�@�.Z6H�N;P�Y;S<��� �ë ì�í é[ðbö;é[ß �	�6�6�	=2�<�;���j�B�V��ý�þ^�b�B�����	�
��ý�þ����	��þ6=�oJþ6�3�nþ��·þ0����þ0/y�j�	�s�	�>�;�b�;���I�o�;t�ÿ��	�4�����Q�^���bþ6=��
oJþ����1�	��þ,�	�Xþ0�<=���������þ6�áþ6��þ6���¶þQ����/º��ý�þ6��þb�j�B��þ�ý��.o�þQ/��	�Nþ���þ��B�
�b�<�?�;�6t��c�V�-��þ��B���Åþ6�h�j�B���^�6�	�<�����	���·þ��h���q����þ0���6����vÑþA�����Nþ¶þ0/
�]ý�����*Jþ9��ý��	���$nºý,�s�B�Q�$�ný2�B���;�b=��0tg
�ý��	�-/��>��*º�
������þ6�������
��ý�þE�Åþ��B�?�,���>��þ�/4�	�2�����	�m+��j�B�,�:�9��þ0�B=��>��þ��&�b�B���������<�,���	�2�>���B���
�>��*4�	�f��ý�þA�����;�b�;���I��tQüæý2�-�E��þbrbþ0�����h���5��ý�þuD�þ6��*Jý<���]ý2�B���¶þL�

0 10 20 30 40 50 60

0

2000

4000

6000

All possible maneuver combinations of 2 planes

C
os

t V
al

ue

Aircraft−Cost Landscape

b) a) c) 

d) 

A


B


3g� A


B


�o� A


B


;�� A


B


I �MNACO0P�b S GBD \ ;	G@587
�L3BKZ90>L5W/�GB1p3BKZK�D]G@5=5=AC�<KC>"EH36-0>L9/c�@>�1�;	G�E �~AZ-03b7=ACG@-<5�AZ-
3 7.e�Gdc 36AC1:;	1436/�7�AC-J78>�1:58>L;	7=ACGB-�5=;	>ec-03b1:ACG0?ne�Y0>�1:>�7=Yj>p>LACOBYJ7�EH36-0>L90�@>�1:5vGB/�MNACOB9014>�`�3b1:>>L-03b�~KC>LI���7=YJ9<5�OB>L-0>�14367=AC-0Ogf 2ihkj.l D]G@5=5=Ak�~KC>F�L3BKC90>L5oG6/mc�=PFMjG@901 G@907 GB/ $ba�>��J3@EHD<KC>L5�3b1:>
>��J78143B;	7V>bI�3B-0I AZKncKZ905878143678>LI �2/2G@9j1�KCGbe�>�1WD~AZ;�7=9014>L5"�4P ��3g�po�GB78Y 3BAk1�;�1:3b/27
EH36AZ-�783BAZ-p583@E�>v58D]>�>LIrq)�2�o�+R�AC1:;	1436/�7�R 783BiB>L5�3|5=Y0GB147=c; 9j7�EH3BAC-J7836AZ-<AZ-jO 36AC1:;	1436/�7ko 367 EH3 � 58D]>�>bILq�� ;M��REH36iB>L5F3ts Mtz 3b7�KCGLe 58D)>�>LIrqV� I �WR I0G�>b5�-0G67=Y<AZ-0Oj?o AC5v-0GB7o3b�~KC>F7VGpD01:>��@>L-�7�7=Y0>WKkG@5=5�G6/�58>�D<36143678ACG@-$Pv,V-7=Yj> D<14>b58>L-�78>LI�;	3658>@?<7=Y0>�5=A E|9<KC3b78>LI�;	G@-�7814G@KZKk>L1�e�G@9<KZI;:Y0G�G@58>
58G@KC907=ACG@- ���o��5=AZ-<;	>F7=Y0>
KCGLe�>b587�;	GB587vAZ5�3B5=58GJ; Anc3b78>LI_e�AC78Y�7=Y0367�EH3B-0>L90�@>�1�P
� �ï Ý.é[é ò�ä â ì�í á�é � � �ï â�Ü�ßjã ä ðbãvu � �w[x �zy � �â6Ü�õ ò à í á&Ý ì ãjã!é[ß í{�S �@GIR�GI\^L�U _�G-Y�ScL�RXN;Z N;P�Y;S<� |&� � �ë,à í % �Ñþ��������>Cdþ��
�������6�����I��/��-�?������v2=����>�B�����>��D�ý2���]ý��������6�����I������þ¯�6�>�<�nþ��>�
���
�	��þ0/ �©v2=��)/����2�	�K���B��þ �nþ������;�����>�B�
%���*B�	�>�
�?�K���	��þ
���
���;�nþ /2���������>v�=������	����t k�þ6��þ	+ /������ ë ì W � �.�2�8t|&� � �ë,à í %N� ú} �u�v x ��~ ò à ï ã �:� �

�ë,à í � /������ ë ì W|&� � �ë,à í %N��z ����ý�þ6��DE����þ��
�[���B��/�þ6�4���y��þ6rbþ��b����ý�þ5��ý���þdþ5�Åþ6o�þ6�-�4�����������	���:�?�l��������þ0/
��vX��oJþB+B��ý�þuD�þ6��*Jý<���E��ý2��DE�5�>�{��ý�þA�6�B���h�j=2�������>�B���w����þL�~V����� u �0z	û ç�ç�� ~ è ßjé ì�ä â u �0z ü � �	��ý�þ��ED2þ��>*�ýB�;� u �0z2t
�@���2�>����C6���2*��@DE���>�
��ý�=��e���;�?�h/pþ��	�
DE�>��ý��>�<����þ��e������þ6���	�����
�����	�m+g��ý�þ6���Îþ6��þ������2*'�6�	��/��>�����	�
�6+,���
/(�����	�>���w�B���������>C0���
�����	�5���g��ý�þ$r
��Dut&
V��þb�2�����2�Åþ$���,�4�6�B���E���	��/2���6���Nþ ú
�[�8�B��/pþ��E���^��þ�/2=���þ$��ý�þs�b�B���2=����������	�5�����8þ	+
D2þs/�þb����þ

�	�][ ä â6Ü�à ä é ��ý�þ(�^�������s=2����=2�3vÑþ��8���4�	�>�;�b�;���I�@�b�B������/��
þ6��þ�/Kv�����ý�þy�����s=2�-����þ�/��6�	�<�����	���Åþ6�q���¥þ��B�]ýK�����8þ'�>��þ6�;���
�����	�mt¬
������6�����I�8�	��þ(��þ6�Åþ�����þ�/��	�6�6�	�;/����2*l������ý�þy�j�	���>��Dh�
�>��*y��=2�ÅþL�'�	�>�;�b�;���I�����<oB�	��oJþ0/����"�g}$������þ8��þ6�Åþ��b��þ0/��
������+
��ý�þ����������6�����I�4v2��þ��B�]ý2���2*wvX�	=���/2�������6�	��/��>�����	�
�6+h����/��2�
���������a��þ6�^�	�>�2���2*a�������6�����I�w=2�<�����4��ý�þ���þ6�Åþ��b�����	�ù�������>ý��	�
��þ0�	�]ý�þ0/e[ ä â6Ü�à ä é �	�>�;�b�;���I�0+V�B�{=2�<���>�$��ý�þ6��þy�	��þy�2�����	��þ
�������6�����I�����5�nþ��·þ0���0t��[�w�2���B�������¶þ	+0� n [ ä â6Ü�à ä é n ��+
D�ý�þ���þ[ ä â6Ü�à ä é �H�6þ�����v2�Åþ��s���	��þ��b�B�4���>�-�6����þ�/����>��=��������	���sv2=��
�^���Jþ0�q��ý�þF�b��/pþ(��=2�����>��D�þ6�0t üæý�þF��þb�8���4�	�>�$�^���bþ6=��
oJþ��$�6�	�3v2�>�
�������	�
�V�j�B�º��ý�þ [ ä â6Ü�à ä é �������6�����I�º�-�u�6�	�>�Åþ�/���ý�þ
�^����þ�=2oJþ�����þb��t�
��Âþ0�	�]ý@�>��þ6�;�����>�B�@���,��ý�þ3�6�	�<�����	���·þ���þ6�4�
=2�-�������	�a���<�B�m+u���'þb�pý��	=�������oJþ(��þ0�b=2�;���>o�þy��þ��	���]ý��	����ý�þ
�^����þ�=2oJþ��3��þb�3�-�3��=2���>���	�;/pþ6�s�����
��/��w�nþ6�3��� [ ä â6Ü�à ä é
�^����þ�=2oJþ����5D�ý2�-�]ý��4���2�����>Cdþ����,t üæýbþl�b�	���2=2�������>�B�����
�b�B�4���·þ6���>�?�K���u���
/��>��*l��ýbþw�B�������^���O� �j�	�V[ ä â�Ü�à ä é �������
�b�;���I����=2v@�Ëþ��b�E���pW ë ì�í é[ð6ö�é[ß �X�B�����>v2�ÅþA/��-���6��þ6��þ$�^����þ�=2oJþ����
����]�����W ë ì�í é[ðbö;é[ß %�� ~7��} v ~ q %bt ��þ'��������þ�/�=��¶þ8��ý2�-�5�b�B���^���
$ ÔI¸q¿�´²®�¥0¡T����ÁX¨!£.�$¢?§��!¨ � £� ;�E«��?�?¸�¨!¡T¥0¸.¢� �¨T�?ª{ �¨�ÈO<	Î�Ð��$°>§�¡¡!�� ;ª. ;«.´²±²´ ¨I­bÒ Ù £6¥.�& hÑ��,Ãº¢� ;¸0¸.§;¨,«��,×0´²�!¥� ;±²± ­ºª0´ �B�?¡!��¸b¨!´  �¨T�?ªu°�¡!§�½ �«0¡T�� ;¢c£º´²¸�¨!£.´²�f¦0±²§;¨�Á.¨!£.§�¥.®�£º´ ¨m¢� ;¸º´²¸�§�¥.¡�ª� �¨T 0Ò

� ��
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




]�����W ë ì�í é[ðbö;é[ß b�x	% � ~7��} v ~ q %=�y�?G[%s��ý�þ8�b�<�?�����E��ý�þ@�b=2����þ��<��^����þ�=2oJþ���ý��	�E�	�>��þ��B/��qvNþ¶þ6���6�	���2=���þ�/8���E��ý�þA�2��þ6o����	=��
�?��þ6�s�	��/u��ý�=��f/2��þ0�������&��þ¶þ0/$���ºvÑþ���þ��b�B���2=���þ0/172�?GIG[%f�?D��
�^����þ�=2oJþ����3����þq�s=���=���������þ6�2�b��=�����oJþw�©��ý2�	�����6=����;%�+&��ý�þ6��þb�
�j�	��þ��B�2�>�(�B��þ{�bþ¶þ�/��A���wvNþ5�������·þ0/1t(�[���b��=�/����2*w��ý�þ8�b�<�?�
���f�]ýbþ��;���>��*A�j�	�E�6�	��r��-���;�6+���ý�þ������;���m�6�B�����	�f�A���>�8þ$�>��þ6�;���
�����	�wvÑþ0�b�	�8þ0�:�X] � [ æë ì W �B�1W ë ì�í é[ð6ö�é[ß b(xB%-� ~Q�|} v ~ q � D�ý�þ���þ[ ë ì W ��þ6����þ0�nþ��B�;�4��ý�þ'���	��������=2�svNþ6�{���s�����;�b�;���I�q���K��ý�þ�nþ0�����	�0t���=�þE���sv
�	��ý4��ý�þ�/������b��þb���>C0�����>�B�4�	�
���>�8þB+<�	��/3��ý�þ
��þ0�?�����-�����>�B�����9��ý�þ^��þ��	���]ý'�����B��þA���@���^���
��*Jþ0��v2�Åþs��=2�4�
vÑþ��q���u�����;�b�;���I��+9�	=2�q��þ��	���]ý��-���2���q*B=����;���<��þdþ�/����y����/
�^��ý�þ6�B��þ6���-�6�������5�B�������^���&���B�>=2�����	�mtuk���D�þ6o�þ6�0+
D�þsvNþ6���Åþ6oJþ
��ý����E��ý�þ3�nþ0���;�]ý5/��Xþ0�E�2����o<�-/pþA����þ��B���B����v2�Åþ$���2�2���.���>�^���
�����	�^�	�1��ý�þº�b�	�<�����B�>�Åþ6�0� �&vNþ¶ý
�.o<���	�0t �9���	/��?=��?���>��*A��ýbþ��?D��
�Jþ��$�6�	�<�����	�B�����;���8þ6��þ6�;��+6��ý�þh�<=��svNþ6�g���
��þ6�Åþ��b��þ�/s�������6�����I�[ ä â6Ü�à ä é ���
/8�����8þ3vNþb�?D�þ¶þ��'�b�B�B�����B�>�Åþ6���	�����>o��������	� NTP ì�ä ã +
�q�����	����������þ6�<�V�����B/pþb�c���FvNþb�?D�þ¶þ��w��=2���T�����8þ��	��/'�6�	�<�����	�
�<=������:�?�{�6���5vNþu���B/pþ	t
��÷æø�'�� �w(nû�ø+�Lõ�ûË÷
ô � *N��ûnô*=Jõ�� 7��
	 ø���õ@�
üæýbþ{�b�B�<�����	���·þ��s���	*	�-�^�2��þ���þ6�<��þ�/F���l��ý�þ��2��þ6o����	=��4��þ����

�����	�l�-�s��ý�þ5��þ0��=��:�s�	�V��=2�8þ6���	=��s�	v���þ6��o������>�B���uD�þ��^�	/pþ
�>����ý�þ�}º�����-����/�
��QüV|E|�+&�4�B�2�>���	�����2*���ý�þ{D��	���(�����	�>�
���;��pq�º�b�	�<�����B�>�Åþ6�;�6tLüæý�þº�©�	�b����ý����h�	�bþ$�����5�b�-�	�����>�j�q
�üV|
�	�b�����	�8�>�<���q�q�nþ6�����&�©�.o	�B���>��þu/�����þ������>o�þ��EDh�	�æþ6���Ñþ������8þ6���
���	�>���(o.�	�>�-/2����þ�/F�j�	�3�w/��	�Nþ���þ��B�������������B��þ��©��þ¶þ5kV�	�����^�	�
����/ak��-�����	� ú ü %�t k���D�þ6o�þ6�0+çþ6o�þ6�a�:�4��ýbþl��=����	�^�����	�)�	�
ýg�>*B=2��þAx4���
/���ý�þA�b�<�?�h�j=2�
�������	�8�	�f��ý�þu�2��þ6o��>�B=��h�nþ0�����>�B�
�>���2�Åþ6�8þ��B��þ�/'�>�@��ý�þ3�����s=2�-�����	���	��þ3�b�	�
���-�?��þ6�<��DE�>��ýw�	=2�
�	v���þ6��o������>�B���6+V�2����ý2�>��*�*	=
���;���<��þdþ��^��ý����8��ý�þ6���8=��nþyDE���>�
�2����o<�-/pþ3��ý�þ^�����8þ3�?�<�Nþ����9r���D��	�u�	�w�B����=
���Q�b�B�<�����	���·þ��
D9�B=2�-/�*Jþ���þ6�;����þ	t¯ý�=2����ý�þ������	��þ	+ED�þyD9�B=2��/K�����Jþw�����B�?�
�nþ0���çý2��D�D2þ��>�g�	=����b�<�?�V�j=2�������>�B�w/pþ0���6����vNþ��E��ý�þ3/�þ��b�-���>�B�
�^�����>��*5�	�h��ý�=2�^�	�(�6�	�<�����	���Åþ6�0t���þ���ý�þ6��þb�j�B��þ^��þdþ�/w���
o�������/2����þQ�B=2���6��/�þe��*<�������?�f��þ0�b�	�;/pþ0/º�	�>�;�b�;���I�1�������Ëþ��b���	���Åþ���t
��þu=
�nþu�
ü��w�{/������4�2����o���/�þ�/qv��ÓÿV
��2
 
��8þ���t æ
)�36783�>��j781436;	7=ACG@-

��þ{������þ6�<�����B���A�?D��8�?���Ñþ0�s�	�E�>���j�B���^�������	�(�j���	����ý�þ
�
ü��'�s/2���;������ý�þE�	�b��=��	��r���DE�3�	�>�;�b�;���I�g���;���Ëþ0�����	���·þ0�6+����
/
��ý�þ��
�·þ0/�r���*Jý<�A�2�-���
�º�j�	��þ��B�]ýy�	�>�;�b�;���I�^�áþ�oJþ��B��=���������=2���
/2����þ�/u�>�2����/��:�X�6�����>�B���g����þQ�^�	/pþ�/�=2���>�2*V��ý�þer���*Jý<�;%btLüæý�þ
�
�<���>�����	�3���g*B�>o�þ6�s���s�-�����:��=�/pþ����>�B�2*	�>��=�/�þ��	��/A���s��þ6���^�f�	�
���.o����-/2��+��2�pþ���+=�Ëþb�?Dh�.���&D�ý2�-�]ý4D�þE���<�B�A=2�������u/������	v��	��þ	t
üæý����u����=�/2�����$�����4�>��þ0/����@�nþ0�����B�u�b�	�<�����B�!+m�	��/'D�þ�/���/

�2�������4���·þ��Îþ��<��üf�;��pq�����	����*�þ6�8þ6�<��~��2�>���Úü���~º%��	���
�����	�mt!ü���~÷�	�Nþ6�;����þ��^���^��ý�þw|2þ6�<��þ6�q�Åþ6o�þ6�����
/��^�	�Jþ��
�?��������þ�*	�-�^r���D¤���]ý�þ0/�=2���>�2*(/pþ0�b�-�����	����+eD�ý����]ý�*	�yvÑþ��	�	�
/
��ý�þ{���	�2*Jþ������w�����2*	�Åþ���þ��b���	���b�B�<�����	���·þ���t ��þ{��ý�þ���þ6�j�	��þ
��þ¶þ0/8����o.�	�>�-/2����þs�B=2�������s=2�-�����	�����º�q���6�	�·þsD�ý�þ6��þ¯ü���~
2 ¶  �¨T �´²�f¢?§�±²±²��¢[¨!�?ªA°>¡T§�½�¨T£.�e�?¸6¨!´²¡T�e¦�§�¦.¥.±  �¨!´²§�¸A§;°�
�´²®�£b¨!�&³f´ ¨!£

� ±²�?ª�
�´²®�£6¨3¦.±  ;¸.�A´²¸'¨T£.��Â�¼,Ã	Ò ËXÙ�� Ã'ª� �¨T 8´²�A�T�?¸b¨3°>¡T§�½µ¨T£0�
� §�±²¦��fÂf �¨T´²§�¸. ;± Ù ¡c ;¸.�!¦	§�¡©¨c �¨!´²§�¸VÃ6­��!¨!�?½�Å1�?¸b¨T�?¡�¾ � Â Ù Ã.ÅmÀ2¨!§,¡T�?®;Ç´²�©¨T�?¡T�?ª�¦� ;¡©¨T´²¢?´²¦� ;¸b¨T�1×�´  Q¨!£.�&¼f´²¡T¢?¡c �°:¨mÃ6´ ¨T¥� �¨!´²§�¸ ¶ ´²�T¦.±  ?­h¨!§9ÔI¸.ª0¥.�!Ç¨!¡!­3¾�¼&Ã ¶ Ô©Àf�?±²�?¢[¨T¡!§�¸.´²¢ � ±²�9�T�?¡!×b�?¡�Ò&¼ � ±²�e¢?§�¸6¨T ;´²¸.´²¸.®� ;±²±2¡T�?¢?§�¡Tª.�?ªª� �¨T 9´²�X®���¸0��¡T �¨T�?ª<ÒXÔ-¨1ª.´²�!¦.±  �­��`°�§�¡X�� ;¢T£º ;´²¡!¢�¡T �°>¨X¨T£.�g¢�¥0¡T¡T�?¸b¨�
�´²®�£b¨ª� �¨T $¾>¨!´²½E��Á�¦�§��T´ ¨!´²§�¸<Á	�T¦��?��ªBÁB£0�� ;ª0´²¸.®6À[Á< ;�g³1�?±²±2 ;��¨T£.� � ±²�?ª�
�´²®�£b¨¦.±  ;¸A¾>´²¸V¨!�?¡T½E�1§;°2¸� ?×� ;´²ª.��Á��!�[¨I³m ?­0��Á ��� �?��Á��[¨!¢�Ò À[Ò Ù £.�&¥.¦�ª� �¨!�Q¡c �¨!�§;°�¨!£.�Q½E�� ;�T¥.¡!��½E�?¸b¨T�1´²�m§�¸V¨T£.�Q§�¡!ª.�?¡�§;°�§�¸.�,½E´²¸6¥0¨!��Ò

0 10 20 30 40 50 60 70 80 90 100
0

10

20

30

40

50

60

aircraft number 

flight time (min) 

MNACO0P�� MNKZACO@Y�7H78A EH>�;�G�EHD<3b1�AC58G@-<5H/�GB1W78Y0>��~1:587�Q�
�
36AC1:;	1436/�7�OBG@AC-0OH78Y014G@90O@Yp58>L;	78GB1o^6^|AC-p7=Yj> stS	�XzFI03b78358>�7oe�>F9<58>LI$P S�Y0>FI0GB7=5�3614>W7=Y0> &]ACO@Y�7v7=AZEH>L5�/�GB1 7=Y0>s�S �Xz_14>L;	GB1:I0>LI�D]G@AZ-�7=5	P|S�Y0>F58GBKZAZI ;	9014�@>FAZ5�7=Y0>H1:>ec5=9<Kk7�GB/�G@901�5=A E|9<KC3678ACG@-<5	P
�	�b��=��������	�����q�	�>��þ��B/��l�����b�B���X�	�;����þ�/��>�K��ý�þ8r���*Jý<�q�2�-�����
�I�?���2�-�6�	�>���w�B��þ��B�A�?D��'��þ������	�;��%btw��������þ{�	=2�3�>�<��þ6��þ����A�j���
�b=���þ��g�B�3��þ������	�;�f�<x�+��B�2+����
+@�0�2+�����/����2+.��ý�þE�	�b��=��	�Br
�>*�ýB�
�2�-�����$����þ3����=2���6����þ0/1+����
/'D�þ3��þ¶þ��'�	���>���X�	���<���º���w��ý����
�nþ0�����	�0tQüæýbþ��
�·þ0/�r
�>*�ýB�������	���E����þV����=����6����þ�/8���>�������	�����	t
s�36KZAZI03b7=ACG@-
OQP�\���L�H�G-Y6P�R�P�����G��	��S�S!GI\^ZbY�����þ��nþ��·þ0���º��ý�þ3���;�?�v��zBz

�������6�����I�V���,��ý�þ3�2ü��'�@/2�����q��þb�ºD�ý2�-�]ý'����þur������2*{�	v
��o�þ
�	�Bz	z	z��I�h�j�	�V���B��þu��ý����7�q�4����=���þ0�6t�üæý�þ6���V��þ��6�	�;/pþ�/{���;���
�Ëþ��b���	���Åþ��Q�	��þ�þ6�����;�	����þ�/^�B�e��þ��<=�þ6�
��þE���mDh�.���
�B�>�<�;�,D�ý2�-�]ý
����þ�=
�nþ0/5�B���>�2�>���-������C¶þ�/{r���*Jý<�E�2�-�������j�B�E�	=2�������s=2�-�����>�B���6t
��þ5�b�B�4�
����þ^��ý�þ{r���*Jý<�s���>�8þ{�>�F��ý�þ8�����s=2�-�����>�B�(���'��ý�þ
��þ0���g�	��þBt¹üæý�þÎþb���Nþ6���>�8þ��B�u�-�º��=2�'�j�	�º��ýbþ3�j�B�>����DE���2*5��þb�
���E���Nþ¶þ0/2��� � �"! z � �gZ�z � �3Z�z+� �$#{�%� �-�$��ý�þ|�'�	�]ý�ÿ�=2�4�
vÑþ��;%b+1D�ý2�-�]ý'�^���;�]ý�þ��ºD�ý����ºD�þ4��þ¶þ3�>�w��ýbþ4/2�������j�	�º��ý����
���>���>��=�/�þ	ts�[�'��ý�þ���=2�m+`��ý�þ^�b�	�<�����B�>�Åþ6�º���$�B������o�����þ�/4þ�oJþ����NTP ì�ä ã � ��zB�nþ0��t"üæýbþ@��þ0��=2�>���^�	��þ���ý2��DE���>��ýg��*	=2��þD�2t
ühD9�$�^�����q�b�B���b��=����>�B���,�6�	��vÑþE�^�	/�þL� d G iÂüæý�þ������s=��������	�
���f��v2�Åþ,���V��þ��b��þ�����þ&��ý�þQr���D(DE�>��ý2�B=��f�^���?�	�m����/��>�
�6�������	�m+
����/sþ6o�þ6�<��=��	�>������þ0���B�>o�þ��9���2���	��þ��<���b�B��r��-���;�9���{��ý�þ$/2���;�27
��ý�þ0�nþ5�b�B��r��-�����3�6�	�FvÑþ8/�=�þ����������	���b=2�;�	�6�w�	�h��ý�þ5�8þ����
��=���þ��Îþ��<���$�	�$�����	�����4�-�������	�K�I�?D��@�������6�����I�u��þ6�
���;����þ0/�v��
�·þ0������ý��	�'���2� ���V��ý�þ4���	�Îþ3���>���>��=�/pþ.%�+X�	�º/�=�þA���q�2���	v��
�·þ��^�9�	�f���<��þ6���X�	�-�������	��D�ý�þ6�8���Nþ¶þ0/{�]ý
���2*�þ��9�>�{�����8þ	7 d GIG i
üæý�þ����>�8þº�b�	�����	���-���	�@�©ýg��*	=2��þ	�B%e�ný���D��,��þ���������oJþ��>�4*	����/
�^�����]ý��>�2*
t2üæý�þAr��>*�ý<�E�����Îþ0���2����o���/�þ�/5v��q��ýbþs�����s=��������	�
����þ�=���=��	�>���l�ný��	����þ6�4vNþ��6�	=���þ{v��l/pþ6�©��=2�>�3��ý�þ@�����s=��������	�
DE�>�����	�>Dh�.���g�����A���s�������>����C¶þh��ýbþE��ý2���	=�*Jý2�2=2�Q�>����ý�þV��þ����
���B��t�üæýbþ��8þ��	��/pþ6o��-�����>�B�l�����0x	z��nþ0��t'�j�	�Ar
�>*�ýB�4�2�-�����
DE�:��ý@���8�.oJþ6�;��*�þ�/�=����������	�5�����0�	zBz3��þ�������t x6�fþ������	��%�t

�XZbH�G &�N�L�S!G©P�R8P��VN;P�R'�9G©N6S&H�ZbYbP�U ��STG©P�R��*��þ���þ6�Åþ��b�e�������6�����I�
r����>��*u��ý2���	=�*Jý^�nþ0�����	�e�B�u�>�q�u�����Îþ��j���	�ÎþV���w��z�ý��	=2�;���©�
���	�����2��þb�Q�	�X�J�:�$�������6�����I�;%g����/4���>�3=2������þh��ý�þ���þ�r��>*�ý<����t üæý�þ
���Åþ�/sr��>*�ý<�g�2�-���
�,����þe�2�	�,�6�	��r
���b�f�j��þ¶þBt ��þhD��	�B�g���u��ý2��D
��ý�������ý�þy�����s=2�-�����	���-�5��v2�Åþ@�����2����o<�-/pþ'���b�B��r��-�����j��þ¶þ
þ6��o��>���	���Îþ��<��tVý��	����ý2�-�º��=2��+���ý�þ4�B�����>o������>�B�@�����8þs�	�,��ý�þ
�b�B�B�����B�>�Åþ6�g�-�)NTP ì�ä ã �)x�z	��þ��	t ûsüæý�þE�nþ6�&�	�X���Ñþdþ�/2�&�	�>����D2þ0/
���(� �)! z �²�	� Z3z � ��� Z4z � � �$#y�©��������þ5D2þ8����þ{�6�	�����-/pþ6���>��*
��ý�þ$�j=��>�f���	�2*Jþ$���Q�	�:���:��=�/pþ	+
D2þu�bþ¶þ�/{���q�b�	�
���-/pþ6�h��ý�þu�j=2���
� 6,8 8�9 ; � Î�Ð;�!�?¢bÒº§�¡ 6 8 8�9 ; � Æ�Ð;�T�?¢�Ò$´²�Q§�¸3¨!£.��§�¡Tª0��¡e§;°m¨T£0�½�  � ´²½� ;±� ;¢[¨T¥. �¨T´²§�¸h¡T �¨T�
§;°� m¢�§�¸b¨!¡T§�±²±²�?¡�Ò+*s�`¢T£.§��T�56 8 8�9 ; � Æ�Ð;�!�?¢bÒ´²¸V¨T£.´²�f¦� ;¡!¨!´²¢?¥.±  ;¡g¢� ;�!�9«��?¢� ;¥.�T�9§;°�¨!£.�eª.¥.¡T �¨T´²§�¸u§;°�¨T£0�9¢?§�½E¦.¥0¨T �Ç¨!´²§�¸3¾©Î�Ð�£.§�¥.¡!�f§;°2¡!�� ;±<¨T´²½E�g ;¡T�,�!´²½�¥.±  �¨!�?ª�À[Ò

, ��
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




220 240 260 280 300 320 340 360

180

200

220

240

260

280

300

320

ZOA33

Recorded trajectory
Filed flight plan
Simulated trajectory 

MNACO0P�� R -">��j3BEHD~KC>pGB/�EH36-0>L90�@>�1F;�3B9<58>LI"�j[�;	G@-/c
&]AC;	7 14>L58G@KZ9j7=ACG@-$? 14>LD01:GJI<90;	>LI �J[_7=Yj>W5=A E|9<KC3b78GB1�P S�Y0>14>L;	GB1:I0>LI�Ij36783 � I0365=Y0>LI ��>��jY<AC�~AC785�3 5=Y0GB147=; 907�/214G�E7=Yj> �]KC>LI &~ACO@Y�7vD~KC36- � 58GBKZAZI �4PFS�Y0>W5=A E|9<KC3b78>LI 78143��8>L;.c
78G61:[�� I0365=Y0>LI/c�I0GB7V78>LI �NAC5N3�5=Y0GB147=; 9j7�GB/j7=Y0>�583@EH>�7 [JD)>@P
���	�2*Jþ{���$���Nþ¶þ0/�%�t�üæý�þ8�����s=2�-�����	���-�^��v2�Åþ����(�2����o��-/pþ{�
�b�B��r��-���^�j��þ¶þ�þ6��o��>���	���Îþ��<��t"��=2�����2*y��ýbþ'�����s=����������	�m+9�:�
ý��	�4���l�	�b��=�����þ���z(/��	�Nþ���þ��<���������6�����I��t�üæý�þ8��=2�svNþ6�q�	�
��þ0���B�>o�þ�/y�b�B��r��-�����3�6�	�yvNþ��B����=2�8þ�/y���@vÑþ{�	�y��ý�þ{���	�Îþ
�	�;/pþ6�0+,�������¶þ5�w�����2*	�Åþ����<��þ���o�þ6�<�����	�lDE�����9=���=��	�>���F��þ0���B�>o�þ
�2���E���	��þº��ý��	�8�	��þu�b�B��r��-���0t

�XL�U G©_BL�STG©P�RaP��8\�L�RXZ6�@�.Z6H�L.Y;Y�G���R
\�Z6R�S!Y	�¥üæý�þ@�6�	��þ5�	�
��ý�þu���>�3=2�-�����B�h������ý�þ$�4��/pþ��m���f��ý�þãý�=2�^���8�b�B�<�����	���·þ��9v��
�E/pþ��6�������	�$�2�����¶þ�/�=���þ,v��B�nþ0/$�	�u�E�b�<�?���j=2�������>�B�A/pþ����b����vÑþ0/
�2��þ6o��>�B=����>�BtLüæý�þ$o������-/2�����>�B�{���A�©���æý��B�h�ný2��DE����ý�þu�6�	����þ6�
���������	�A�	�2r���DF��������þ6�����g*Jþ6�bþ6�;����þ0/uv��$�	=2�&�b��/pþh����/A��ý�þ0�nþ
�	v���þ6��oJþ0/����@��þ����f�>�>�áþ	t ��þs�2��DaD��	=2�-/5�>���Jþu�����	����þ�������ý�þ
o�������/��>�?�@�����	=2�u/pþ0�b�-�����	�w�2�����¶þ�/�=���þBtsý2�B����ý2�-�6+fD2þ4��/�þ6���
���>�j�@�b�	�2r����b����þ����	��=������	�8�^���bþ6=2o�þ6�;�6t�üæý�þ��8�	��þ$�?���2�-�6�	�>���
�	v��;������þ�/�v����-/pþ6�<���>�j���>��*3/pþ�o<�-�����>�B���&�j���	� ��ýbþ����Åþ�/�r
�>*�ýB�
�2�-���mt�ý��	����ý�þ���þA�^���bþ6=2o�þ6�;�6+
D2þA*�þ6��þ�������þ$��ý�þA�j�B�>����DE�>��*
�>���2=���/�������tg
V�>�`�����;�b�;���I�e����þV�B�����>*B��þ�/3��ý�þ6���9�B����=
���2r
�>*�ýB�
�2�-���q�j��þ��6�	�;/pþ�/º�������Ëþ��b���	���Åþ��;%�t=üæý�þ��������6�����I�1�j�	�gD�ý2�-�]ý$��ý�þ
�^����þ�=2oJþ��QD��B�,�-/pþ6�<���>�bþ0/����9�	������*	��þ0/4�:�;�,���Åþ�/4r���*Jý<�e�����	�
�©�$��þb�,����Dh�.�u�X�	���B�;��%bt ��þh��ý�=��&��=��&��ý�þ����>�3=2�-�����B�f���3��ý�þ
���	�8þ4���:��=������>�B�y�B�º��ý�þ8ý�=2�^���F�6�	�<�����	���·þ���+`D�ý�þ���þ��>��ý��	�
���3���	�JþE��ý�þ�/�þ��b�-���>�B����ý�����Dh�	�9�	����=��������s�;���Jþ��mt&ý2�	�h��þ����
���B�h�B�2+�D�þ�D�þ6��þ$��v2�Åþº������/�þ6�<���>�j�{x�z�/��-�����������E�^����þ�=2oJþ����
�	=��Q�	�X�Bz	zÂþb�2��������þ�/sr���*Jý<�Q�2�-������tQüæý�þ������s=��������	�,��þ6�����	�
/�=��¶þ�/��*�4���g��ýbþ6�8t ü 
V�6þb�2�����2�Åþ$���V�ný2��DE�5���8ýg��*	=2��þ �2t

� öJ'=øçû�úNõpû ��'¥ö�' =�ù�(iõ/=
�[�w��ý����$��þ������>�B�m+mD�þ4�B����þ�����ý2��D��	���b=2�;����þs�B=2�u�����	�>�<���

�������E�2��þ�/2���b�����	���q�	��þ8DE�>��ý���þ����Ñþ0�������(��ý�þ���þ��	����������þ6�8+
v����6�	�����������2*y��ý�þ�� DE�>��ý������s=2�-�����>�B���6t;üæý�þ���D2þ'=��nþ
�	=2�9�����s=2�-�����	�,���s��ý2��D��u/pþ��6�	����þ����������	��vÑþ6�?D2þdþ6�q�6�	��r��-���

� Ã�½� ;±²± ÇI�!¢� ;±²��½� ;¸.�?¥0×b�?¡T�� ;¡T�u±²�?�T��±²´����?± ­q¨T§4«	�A� � ��¢?¥0¨!�?ª@¢?§�¡!Ç¡!��¢[¨!± ­º«b­V¨T£.�e�T´²½9¥.±  �¨!§�¡f«��?¢� ;¥.�T�Q¨T£0�9¦.¡!§�«� ;«.´²±²´ ¨I­�§;°X�!�?±²��¢[¨!´²¸.®E¨T£0�¡!���!¦���¢[¨!´ ×b�, ;´²¡T¢?¡T �°>¨` �¨m� �  ;¢[¨T± ­E¨!£.��� ¡!´²®�£6¨�»b¨T´²½E��´²�`�!½� ;±²±-Á�³f£0´²¢c£�� � Ç¦.±  ;´²¸0�g¨T£0���T½� ;±²±<ª.´²�T¢?¡T�?¦� ;¸0¢?­A«��[¨I³1�?�?¸s¨!£.�9¡T�?�T¥.± ¨!��Ò&¼g±²�T§.Á	�[×b�?¸3´ °¨!£.�g½� ;¸0��¥�×b��¡1´²�X� � �?¢?¥0¨T�?ª�¢�§�¡!¡T�?¢[¨T± ­h«6­h¨!£.�&�!´²½�¥.±  �¨!§�¡�Á�¨!£.�f¡T�?�T¥.± ¨©Ç´²¸.® 
.´²®�£6¨X¦.±  ;¸�³�´²±²±.±²§6§���ª.´ �	�?¡T�?¸b¨
°>¡T§�½y¨!£.� ËXÙ�� Ã9ª� �¨T 0Á6�T´²¸.¢?�m¨T£0��!´²½�¥.±  �¨!§�¡
´²�
¡T�?�!¨!¡T´²¢[¨!�?ªh¨T§9 ,�T´²¸.®�±²�� ;¸.®�±²�f§;°<ª.�[×�´  �¨T´²§�¸u¾
	 � Æ�Æ�� È�
6À[Ò

−900 −800 −700 −600 −500 −400 −300 −200 −100 0
0

2000

4000

6000

8000

Distance to TRACON (nm)

ti
m

e 
(s

ec
)

Region controllerd
by the simulator  
(Oakland TRACON)  

Region not controllerd
by the simulator      

horizontal shock 

backward in time propagating shock 

MNACO0P�Q 
 zjY0GJ;:ij5 OB>L-0>�14367V>bI��J[q7.e�G 5=9<; ;�>b5=5=Ak�@>pD<KC3Yc
78G�G@-05	P S�Yj> �~1:587
5=Y0GJ;�iXAZ5
587V>L36I0[ AZ-c7=AZEH>i� AC7WG@-0KC[D<14GBD036OB3b78>L5v�<3B;:i�e�3b1�IqAZ- 58D<3B;	>��4PF,.7v;	GB1414>L58D)GB-<I<5 78G3 D~ACKZAZ-0OH90D�D<14GJ;	>L5=5�G@-
3|Y<ACOBYJe�3�[Fe�Y0>�14>�3BKZK]�@>LY<AZ; KC>L55=KCGLe I0GLe�- 367�7=Y0> 583@EH>�7=AZEH>@PUS�Y0> 58>L;	G@-<I 5=Y0GJ;:iD<14GBD036OB3b78>L5��<36;�i�e�361:I"AZ-"58D<36;	>�36-<I�7=A EH> ��e�Y0AZ;�YXAZ5E|9<;:Y�Y03b1�Ij>L1 78G
Y036-<I<KC>HAZ-�D<1436;	7=AZ;	>@?$�]>b;�3B9<58>�3B;	78903Yc7=AkG@-�E�90587��]> D]>L14/�GB1�EH>LI�90D~587V1:>�3BE �~1:587"�4P
��þ0���B�>=2�����	�{�	��/5�8þb��þ������2*
+�=��nþ0/5�>�5�	=2���6=2����þ��B�ED��	���`t
zJ>L;	7VGB1oGb�@>�1:KCGB36I

��þ��2��þ���þ6�<�K�	� þ6���	���2�·þa���'�?D9� v��	�;���2���	�
��*B�������2*
�ný����;����+E���B�>o�þ�/�DE�:��ý)����þ6����þ6�
�����	���	�º��ý�þ'�8þ6��ý2��/�þb���
�2�-������þ�/5�2��þ6o����	=����>�1t ú þFühD����2���������	�
�6+�þ0�	�]ý8������z4�����·þ0�?�
�>�2�!�����	�>�T+
�	��þA��þ����Nþ������>o�þ6���5��=2v@�Ëþ0����þ�/8�����0�������·þ0�?�c�����!�����	�>�
����/^x	z$�4���Åþ����T�����T���;�����2�	=���r���D�v
�B=2��/2�	���4�b�	�
/��:���>�B�����j��ý�þ
v
�B=2��/2�	���y�b�B��/��>�����	���u�	�E�2���������	�lx@�����	���s���I��þ��A�2�-�������B�
�¯ý��B�çþ6���:��þ�/@��ý�þ�����þ��2+`���º�����8þ � � �B�	zBzB%btÂüæý�þ����Ñþdþ�/2�
����þ � � ! z �²���gZ^z+� �	� Z^z � � �$#Bt!üæýbþ��������6�����I�^r���D��4�j�	�
��ý2�-�$��=2�y�	��þ4�ný���DE�'���yýg��*	=2��þW�0x�t¹üæý�þ���þ0��=2�>���$�	��/'�����
��þ����2��þb�;�����>�B��������þ8��ý2��DE���>��ýg�>*B=2��þ��W��z(�	��/ �b�	t�ühD��
�ný����;���4���2�Nþ��	�4��=�����þ������>o�þ6���	t(ý2���	� ýg�>*B=2��þ���z�+,D2þ5�6�	�
�nþdþe��ý����,DE�>��ý2���4��ý�þE��þ��6�	��/s�2���������	��+.��ý�þh���;���f�?D�þ6��oJþh�������
�b�;���I�E��þdþ�/5����vNþs�	�b��=�����þ0/�DE�>��ý2���8��ýbþ4}º�����-����/8|2þ6�<��þ���+
D�ý�þ6��þ��B�º��ý�þ^�-�	���qþ6��*Jý<�u��þdþ�/w���@vNþ��	�b��=�����þ0/'=2�
�?����þ0���
�!���	�:�F������þ'|2þ6�<��þ��;%bta��������þ'�>��*�þ6��þ����	�!+��2�F���2��DE�Åþ�/�*�þ
���`��ýbþV��þ��<=2����þ0/�v
�B=2��/2�	�����b�B��/��>�����	���e���e�2���B����*<����þ�/4=2���
�?����þ0���8+�D2þ������K�2��þ�/��-���q��ý����q���K��ýbþ���þ0���������?��þ6�8+���ý�þ
���B�?�Fþ6��*Jý<�{�����;�b�;���I�qD��	=2�-/K�2���5vÑþy�	�b��=�����þ�/K=��B���>����ýbþ6�
þ6�<��þ��e��ý�þs}º�����-����/{|2þ��<��þ6�h���
/^��ý
���h�2�4���	��=����>�B�q���3��ý����
�8þb��þ������2*u�2���	v��·þ���D��	=2�-/�vÑþ��j�	=2��/�DE�>��ý��	=��e��=������>�2*A��ý�þ
�������6�����I���	�¯ý2�	�-/1t ��þ�oJþ6���>�j�V��ý2���gv��u�����s=����������2*���ý2����r���D��
�>�qýg��*	=2��þ��L�B+	D�þ��nþdþh��ý����Q�j�	�,��ý�þ��-�	���	þ6��*Jý<�e�����;�b�;���I��+���ý�þ
���;�?�Q�	�b����o��������	�s�����8þE�>�3��ý�þ������s=2�-�����	�&���Qý��>*�ý�þ6�g��ý
���3��ý�þ
�2��þ�/��-����þ�/��©=2�2�Nþ6�h�2�����;%4�g��ý�þ$�����s=�������þ�/��b�	�<�����B�>�Åþ6�9���9�2���
��v2�Åþ$���{�	����=�����þ$��ý�þ3�������6�����I�h�B�5�����ÎþB+
vNþ�����=���þ$��ýbþ6�8����þ
�2���$���'�>���$�����������B��þ	t ��þ4������o�þ6���:�j�@�B�@��ý�þ4����/�/��·þ��2�����
��ý�������ýbþ���þs�������6�����I�V����þAv2��þ��B�]ý2�>��*3��ý�þsvX�	=���/2�����{�6�	��/2�:�
�����	���^�©v��w��vX�	=2�$�B��þ^���>��=���þ�þ��B�]ý
%�+mD�ý����]ýF�6�	�y�	�����5vÑþ
�nþdþ6�(���(��ý�þq����D�þ6�u�2�����	�A��ýbþ6���s/pþ6�-�.���6+��j�Tt þBt���ý�þq����oJþ6�;��þ
���9��ý�þ^�b=��s=2�-����þ�/wv2��þ0�	�]ý�þ0��%VvNþ��b�B�8þ3��þ�*B������oJþ	tÎüæý2�-�$���
���������>=������;�����>�B�����3/2���������>v�=���þ0/�����/)/pþ��¶þ6�<���;�����>Cdþ�/��6�	���
�����	������ý�þ��B����=
�������	� �����b=2�;�@����/��	�Nþ���þ��B�y�nþ0�����B����+A���
/
��ý�þu�B�2�����b�B�4�3=2�2�-�6�������	�5vÑþ6�?D2þdþ6�5��ý�þ��¤�-�h��ý����B=2*Jý���ý�þ
�8þb��þ������2*'�6�	��/2�:���>�B���6tF}�v�o<���	=
�����	+g��ýbþ{�-�	�;�y���E��ý�þ{�¶þ6���
���;�����>Cdþ�/w�	����=������>�B���áýbþ6��þ4�6�	���s=2�������������	�y����/w�?��������þ�*	�-�
ü���~��2�-���2���>�2*�%�/�������v��·þ0�æþbpq�b�Åþ6�<�Er���Da���]ý�þ0/�=2���>��*�t

� ��
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




0 5 10 15 20 25 30 35 40
0

2000

4000

6000

tim
e 

(s
ec

)

1st act. in simulator
1st act. in theory

0 5 10 15 20 25 30 35 40
0

50

100

tim
e 

(s
ec

) breach time

0 5 10 15 20 25 30 35 40
−1000

−500

0

500

aircraft Number

tim
e 

(s
ec

)

Delay

MNACO0P�QBQ M�Ak1�587N36;	7=903b7=ACG@-|7=A EH>L5wGB/j7=Y0>�3BAC1:;	1436/�7m��90D<D]>�1D~KkGB7"�4?H5=A E|9<KC3b78>LIf36-<IlD<14>LI<AZ;	78>LIrq��01:>�36;�Y0>L5�AZ- EH>ec
78>�1:AZ-0O ;	G@-0I<AC7=ACGB-<5�� EFACI<I<KC>_D~KCGB7"�=?+5=A E|9<KC367V>bILq�I0>LKC3�[05� KkGbe�>�1�D~KkGB7"�4?<5=A E�90KC3678>LI$?J/�GB1�78Y0>v;�3B58>�GB/ 7=Yj> 7 e�G D<KC3Yc78G�G@-05�GB/tMNACOB9014>�Q 
jP

)�>b;�GB141:>LKC3b7=ACG@-�G6/t;	14G@5=5�7V1:3���; AZ- E�>L7V>L14>LI*&<Gbe�5

¯D��	���<���2*5�	����=2�������>�B�'D�ý2�-�]ý'�-�º���I��þ6�y���B/pþ4�>�'r���D

���]ýbþ�/�=2�����2*q�-�E��ýbþ3/pþ0�b�	����þ6�-�������	�5���,�8þb��þ6���>��*��b�B��/��>�����	���
����/w�b���B�������;��pq�sD�ýbþ6�w���;��pq�3/�þ6�����:�?�@�-�$��þ6�-������oJþ��>�@����D
�j�Tt þBt,�b�	�2r����b�h�.oB�	�-/2���
��þV�B����=
�������	�{/��Xþ����2���h���4�
�	���h�8þb�
��þ������2*u�	�b��=��������	�
%bt ��þV/��-�������.�u��ý2�-�Q�2���	�Nþ6���?�A���X��ýbþhr���D
v��º���>�3=2�-�������2*E�?D��V������þ��	���m���2���B��þ6�;�nþ0�����>�2*3�©���
/u�b�	�2r����b���
�>��*<%��������6�����I�A�©��þ¶þuýg�>*B=2��þ �0�B%�t	ühD����2�-�������B���h���&�������6�����I�
�>�<��þ6�;�nþ0���������(�
�.o.�	��/��c|9�>��o��-�6+h�����pþ������	���.�	%b+h�	��/�D2þ
�b�B�����-/pþ��V���	�>��DE����þs�6�	��r��-���;�6tA}���þ3�2���������	�@�-�$��=�v@�Ëþ��b�V���
�	=���r���DF�8þb��þ6���>�2*$�b�B��/��>�����	���h�!���g��ý�þhvX�	=2��/������u���
��þ��b���	�
�0���	��/8���<%b+
�	��/8D2þuD��	=���/8���>��þ$�����<=��	�<���>�j�q��ýbþs���4�
�	���
���`��ýbþV����ý�þ6�9�2�-�������B�^�	����ýbþ����;�.oJþ��������8þV�	�X��ý�þ��
�����e�2�-���
�����	�{��ý����B=2*Jý{��ý�þA��þ��b���B��t

��þ'����oJþ0�?���>*<����þ � �l/��	�Nþ���þ��<�5�b�B����*B=2���������	�����'D�þ'��þb�
�·þ0���u��ý�þ������8þ^�>�2r���D �6�	��/2�:���>�B���º�j�	�u��ý�þ^�?D��@�2�-�������B���:�NS� à í � ! �.� Z�x	zgZ;x	� Z��	z$#s���>�Åþ����T�����T���;�����!+,�	��/y��ý�þ��j�	���>��Dh�
�>��*��B=���r���D��b�	�
/��:���>�B���f�j�	�g��ýbþ������������	�Îý�þ��B/����2*V����D��	��/��
�nþ0�����	������+ NT� Ü�ð6ãH� ! �.� Z�x	zgZ;x	� Z��	z$#������·þ0�?�c�����!�����	�>�$�©��þ¶þ
ýg�>*B=2��þ����B%bt ��þ4�b�	�����	��þ$��ý�þA�����.o�þ6�1���>�8þs�j�	�çþ0�	�]ý8�2�-���
�����	��DE�:��ý2�	=�����ýbþ��2��þ���þ6�
��þV�	�1��ý�þº����ý�þ6��DE�>��ýq��ý�þ����;�.oJþ6�
�����8þ^D�ý�þ6�y��ýbþ^�?D9�8�2�-�������	���$���<��þ6�;��þ����0t�ý2�B��þ��B�]ý(�6�	���
��*	=����������	�m+�D�þs/��
�0z���=2�
�ED�ý�þ6��þ$��ýbþA�>���:�����	���X�B���:���>�B�5�	�
��ý�þ��������6�����I�QDE�:��ý2�>�sþ��	�]ý��2�-�������	�����e�Ñþ�����=2��vÑþ0/�v<���u=2���:�
�j�	��� �2�B����þ8���º�	���2�>�>��=
/pþ'xw�2�8t�üæý����q����þ����������'�-�4��ý�þ
D9�B�����V�6�B�nþu�X�B�����>v2�Åþu�j�B����ý������?�<�Nþs�	�Q�b���B���hr���D��9�	�>�g�������
�b�;���I�h�j�	����ý�þ$�?D9�4��þ����Ñþ0������oJþº�2�-�����<�B���E�b�B��r��-���E���	�>��DE����þ	t
üæý2�-�h��þ0��=2�>���h�����*�Bzs��=2����t þ8ý��	��þ��B�]ýw��NT� à í Z(NS� Ü�ðbã %b+2D2þ
�b�B�4��=���þº��ýbþ$��ý2��þ¶þ$�j�B�>����DE�>��*4�<=��	�B���:���·þ0�
��� ú��� ���� ú � P

í Ü ä ßjÜ ïjï�� Ü ^
ó � ô Û ôì à ß ä ß ì ñ ã � b P í Ü ä ßjÜ ïjï�� Ü ^ ó í Ü � ô Û ôì à ß ä ß ì ñ ã � �

x�� ú��� ���� ú � P
ä ßjÜ ïjï�� Ü ^

ó � ô Û ôì à ß ä ß ì ñ ã � b P í Ü ä ßjÜ ï©ï	� Ü ^ ó í Ü � ô Û ôì à ß ä ß ì ñ:ã � �
� � 
 P ä ßjÜ ïjï�� Ü ^ã!ß ì ö;é[õ�ã©à ë,é b�
 P í Ü ä ßjÜ ïjï�� Ü ^ã!ß ì ö;é[õ�ã©à ë,é
� Ù £.�,�T�[¨©¨T´²¸.®���°�§�¡1¨!£.�?�T�Q¡T¥0¸.�g ;¡!��
�������Ð�� ���fÐ�� ��È��fÐ�� ��Ï��6Á.¨T£0�×b�?¢[¨T§�¡©Ç-°>§�¡!ÇI�!¦� ;¢?´²¸.®4½� ;¸.�?¥0×b�?¡E³m ;�E±²´²½E´ ¨!�?ªq¨!§� 3È3¸.½�ª.�[×�´  �¨T´²§�¸°>¡T§�½�¨T£.�s§�¡T´²®�´²¸. ;± 
�´²®�£b¨$¦.±  ;¸<Ò Ù £.�?�!�3�!�?¨©¨!´²¸.®��º³1�?¡T�A¢c£0§��T�?¸8¨T§®�¥� ;¡T ;¸6¨!�?�u�T£.§�¡©¨ 
�´²®�£b¨V¨!´²½E�?��Ò Ù £0�$´²¸6¨!�?¡!×; ;±g«��[¨I³1�?��¸5¢�§�¸b¨!¡T§�±²±²�?¡ ;¢[¨!´ ×� �¨!´²§�¸º³m ;���T�[¨m¨T§J6 8 8�9 ; � Æ�Ð������;Ò

200 220 240 260 280 300 320 340 360 380 400
100

120

140

160

180

200

220

240

260

280

300

nautical miles starting from W124

na
ut

ic
al

 m
ile

s 
st

ar
tin

g 
fr

om
 N

34

ZOA33

Salt Lake

ZOA15

Air Traffic Map Oakland at time: 0

3g� è»©�®ºÀ�°�®º³�³! #" 200 220 240 260 280 300 320 340 360 380 400
100

120

140

160

180

200

220

240

260

280

300

nautical miles starting from W124

na
ut

ic
al

 m
ile

s 
st

ar
tin

g 
fr

om
 N

34

ZOA33

Salt Lake

ZOA15

Air Traffic Map Oakland at time: 200

� � è»©�®ºÀ8°ç®º³2³� #$%"%"

200 220 240 260 280 300 320 340 360 380 400
100

120

140

160

180

200

220

240

260

280

300

nautical miles starting from W124

na
ut

ic
al

 m
ile

s 
st

ar
tin

g 
fr

om
 N

34

ZOA33

Salt Lake

ZOA15

Air Traffic Map Oakland at time: 400

;M� è»©�®ºÀ8°ç®º³æ³! 	L&"%" 200 220 240 260 280 300 320 340 360 380 400
100

120

140

160

180

200

220

240

260

280

300

nautical miles starting from W124

na
ut

ic
al

 m
ile

s 
st

ar
tin

g 
fr

om
 N

34

ZOA33

Salt Lake

ZOA15

Air Traffic Map Oakland at time: 600

I5� è»©�®ºÀ8°ç®º³2³� ('&"%"

200 220 240 260 280 300 320 340 360 380 400
100

120

140

160

180

200

220

240

260

280

300

nautical miles starting from W124

na
ut

ic
al

 m
ile

s 
st

ar
tin

g 
fr

om
 N

34

ZOA33

Salt Lake

ZOA15

Air Traffic Map Oakland at time: 800

>3� è»©�®ºÀ�°�®º³�³! #)%"%" 200 220 240 260 280 300 320 340 360 380 400
100

120

140

160

180

200

220

240

260

280

300

nautical miles starting from W124
na

ut
ic

al
 m

ile
s 

st
ar

tin
g 

fr
om

 N
34

ZOA33

Salt Lake

ZOA15

Air Traffic Map Oakland at time: 1000

/*� è»©�®ºÀ�°�®º³�³! +*,"%"&"
MNACO0P�QL` zJ>L;	78G61�^B^J\X78143���; &<Gbe /�GB1�7=Y0>�EH>�14O@AZ-0O78143���;"5=A E|9<KC3678ACG@- GB/HGB/FMNACOB9014>b5�Q�
 3B-<I Q6QBP S�Y0>143BI0AZ9<5 3614G@9<-0I 7=Y0>X3BAC1:;	143b/27qAZ5.-0/ 1 -~EpP S�Y0>X58G@KZAZIKZAC-0>L5v14>LD01:>L58>L-�7 7=Yj>W3BAC1:;	143b/27=5�2 &~ACO@Y�7 D~KC36-$PHS�Y0>WI0GB7=c78>LIpKZAZ-0>L5�;�GB141:>L58D]G@-<I_78G
EH36-0>L90�@>�1:5�365=5=ACO@-0>LI_�J[
7=Y0>
5=A E|9<KC3b78GB1�P S�Y0> 5=AZE�9<Kk3678GB1�EH36iB>b5|>��j7V>b-05=AC�@>�9<58> G6/7=Yj> �@>b;�78GB1�c /�GB1�c�58D<3B;	AZ-0Op78G�EH>�78>�1�7=Y0>|36AC1:;	1436/�7	P
�6�	�>�Åþ�/ ��þ0���Nþ��b����oJþ6���3
 P í Ü ä ß©Ü ïjï	� Ü ^ã©ß ì ö;é[õ�ã©à ë,é +4
 P ä ßjÜ ïjï	� Ü ^ã©ß ì ö;é[õ�ã©à ë,é ���
/NTP�5�6 q  }~ � }87�7 � { }:9 t�k�þ���þB+J[ �-����ý�þ@���	���	�V��=2�svNþ6�����u�������6�����I�
��[ ��x�z2+	D2þ�ý��.o�þ��?D9�u�2�-�������	���,�	� �0zu�������6�����I�;%bt��[��þ��B�]ý
���g��ý�þA�j�	���s=2�-�^��vX��oJþB+gP í Ü ä ßjÜ ïjï�� Ü ^ ó � ô Û ôì à ß ä ß ì ñ ã � ��þ6�2��þ���þ6�<�;����ý�þ���;�.oJþ��e���>�8þ8�����	�>�;�b�;���I�v�A������v
�nþ�����þ5������ý�þ5����ý�þ6���2�-��������	��+2����/�DE�:��ý5�B=���r
��D�v
�B=2��/2�	���q�6�	��/2�:���>�B���h�	�E��ý2��DE��>�Fýg��*	=2��þW���F�©�	��/(�������>�-�������@�j�	�$��ý�þq����ý�þ6�A��=2v����b���������;%�tüæý�þ5��þ0��=2�>���3�j�B�s��ý�þ8�Îþ0����/�� �+þ6��þ6�
��þ5�>�����;�.oJþ��Q�����8þ8����ný���DE������ýf��*	=���þ��:���!�.oJþ6�;��*�þ�/���oJþ6�W�0zw��=2���4�j�B��þ��B�]ý�6�B�nþ.%�t���þº�ný2��D���ýbþV��=2�8þ6���������
��þ0��=2�>���e�	v��;������þ�/���þ����Nþ��������oJþ��>�@������ý�þ NT� à í �f�0�{���
/ NS� à í � x�zq�����·þ0�?�c�����!�����	�>��>�2r���D����	��þ	+6<; 9�:(; = 8 B 9 9>4 9 KQK�> 9:?; 478 < 6�H ; A ? 6 = 8 9>4 9 K7K�> 9:?; 478 < 6>H ; A ? 6 6,8 5@6 q  }~ � }87�7 � { }A9Î�È;¸.½ Ð�� ��Î���È;�T�?¢�Ò Î?ÉbÐ�� È;É��!��¢�Ò Î�Ì�Ï�� ��Æ;�!�?¢bÒÆ�Ð;¸.½ Í;É � �;�T�?¢�Ò Î�Í�Í�� Ï�Ì;�!��¢�Ò Î�Ð�Æ��²Î�Ì;�!�?¢bÒÆ�È;¸.½ Ï�Ð�� �;Í0Î?�T�?¢�Ò Î�È�� � Ð��;�!��¢�Ò Í�Í�� Ì�Æ;�T�?¢�ÒÌ�Ð;¸.½ Î�Ð;É � Í�È;�T�?¢�Ò Î�Í;É � ��Í;�!��¢�Ò Í�Ð�� Æ�Ð�Ì;�!�?¢bÒ

¾©Î�ÐbÀ

B ��
�
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




150 200 250 300
100

150

200

250

ZOA33ZOA34

ZOA13

ZOA15

Active Boundary Condition

t=900 
150 200 250 300

100

150

200

250

ZOA33ZOA34

Active Boundary Condition

ZOA13

ZOA15

t=1100 

150 200 250 300
100

150

200

250

ZOA33ZOA34

Active Boundary Condition

ZOA13

ZOA15

t=1300 
150 200 250 300

100

150

200

250

ZOA33ZOA34

Active Boundary Condition

ZOA13

ZOA15

t=1500 

150 200 250 300
100

150

200

250

ZOA34

Active Boundary Condition

ZOA15

ZOA33

t=1700 

ZOA13

150 200 250 300
100

150

200

250

Active Boundary Condition

ZOA13

ZOA34

ZOA15

ZOA33

t=1900 

MNACO0P�QL^ S+e�G AC-J78>�1:58>L;	7=AZ-jO�D~KC3b78G�G@-<5W367�7=Y0>�T�KCGL�0AZ5-03��L3BAZI /�GB1�7=Y0>�;�G@-��~O@9j1:3b7=ACG@-�e�Y0>�14>�78Y0>�36AC1:;	1436/�7tY03��@>
36-_AZ- &~Gbe GB/�` 
FEFAZKC>L5=c�AC-/c 78143BACK2P�R�AC1:;	1436/�7�3b1:>vD<3BAC14e�AC58>;	GB-#&]AZ;	78AZ-0O ��3BAk1�;�1:3b/27��N/�14G�E D~Kk3678G�G@-�Q ;�G@-#&]AZ;�7=5�e�AC7=Y36AC1:;	1436/�7���GB/�D~KC3b78G�G@- ` �4?�3B5=5=9~EFAC-0O &]ACO@Y�7 D~KC36-"AZ5 78G
/�G@KZKCGLe 5878143BACOBYJ7�KZAZ-j>F367oAC-<AC7=AC36Kt58D]>�>LI$P�S�Y0>�5=A E|9<KC367VGB1AZ5 7=YJ9<5 /�GB1:;	>LI�78G 3BI��89<587 >�3B;:Y�GB/�7=Y0>�D<3BAk1�5	P ) >��0Ak3Yc7=AkG@-<5 ���@>L;	78GB1�c /�GB1�c�58D<36; AZ-0Og�o3614>|�<3b1:>LKC[_�0AC5=AC�~KC>�G@-�7=Y0>D~KkGB7��]>b;�3B9<58> GB/�7=Y0>LAC1�54EH36KZK 3BEHD~KZAC789<I0> � d6-~ED�=P
6<; 9�:(; = 8 B 9 9>4 9 KQK�> 9:?; 478 < 6�H ; A ? 6 = 8 9>4 9 K7K�> 9:?; 478 < 6>H ; A ? 6 6,8 5@6 q  }~ � }87�7 � { }A9Î�È;¸.½ Ð;�T�?¢�Ò Æ����²Î�È�È;�!��¢�Ò Æ����²Î�È�È;�!�?¢bÒÆ�Ð;¸.½ Ð�� �;Ð;É��!�?¢bÒ Ì�È�� Ï�È;�T�?¢�Ò Ì�È�� Æ;ÉbÈ;�!�?¢bÒÆ�È;¸.½ ��É � Æ�È�È;�T�?¢�Ò Î�Ð0Î�� ��Ï;�!��¢�Ò Æ�� � Í�Ì�Í;�!�?¢bÒÌ�Ð;¸.½ Ï�Ï�� È���É��T�?¢�Ò Î�Æ�Ì�� ��Ï;�!��¢�Ò Æ;É � Ì0Î?É��!�?¢bÒ

¾©Î�Î�À

NTP 5@6 q  }~ � } 7�7 � { }:9 �-����þ6�2��þ���þ6�<��þ0/l����ýg��*	=2��þ��:�w�j�	����ý�þ@�b�	�4��2�Åþb��þ{�nþ6�A���A�aNS� à í Z>NT� Ü�ð6ã %$���<o�þ�������*B����þ�/�ý�þ���þBt5�eoJþ6�y�>�
��ý�þ5�Nþ����F�	� NTP 5@6 q  }~ � } 7�7 � { }:9 ý��	�2�Ñþ����3�j�	�@�aNS� à í Z>NS� Ü�ðbã % �
���.� Z:�.�	%b+���ý�þ��^�������s=�� 
 P ä ßjÜ ïjï�� Ü ^ã©ß ì ö;é[õ.ã©à ë,é ý��	�2�Nþ6�����	�>þb���
�Ñþ0����þ�/3�j�	����NT� à í Z(NS� Ü�ðbã %N�����.� Z��BzB%b+�D�ý2���]ý4�-�&��ý�þE�^���<�
�>�^�	�,�>��r
��Du+m���>�2���^���Q�B=���r
��Du+��	�u�����yvÑþq��þ¶þ��w��������z<%�t
üæý�þA�b�B�������������	�{vÑþ6�?D2þdþ6�(���0zB%h���
/w� �L�0%h�	��/8ýg�>*B=2��þ ���
�b�Åþ��	�������ný���D��º��ý�þ^�2��þ�/2�	���>�
�����¶þ4�	�h�6�	��r
���b�A��þ0���B�>=����>�B�
��oJþ��1v
�B=2��/2�	���º�b�	�
/��:���>�B���`�j�B� ý2��*JýA/pþ������>�?�º�������;��pq�E�©��þ¶þ
���B�?���6�	��=2���5���(����z<%h����/y���b�0%�%�t

��þ@�nþdþ5��ý����4��ý�þ�/��	�Nþ���þ�����þ8����/�þ6�-�.�lvÑþ6�?D2þdþ6�K�nþ������
������þV�	��/^���>�3=2�:�;����þ��	=��Qr���DK���9����*	���:�
�����<�����4���	��*�þ6�,�>�1��ý�þ

15

20

25

30
15

20

25

30

20

40

60

80

100

120

140

∆ T
due to cross flow

∆ T
inflow

∆ T
outflow

M�AkO0P Q�a y�KCGB7�G6/ ���������
	��

�� �����������

3��@>�1436OB>LI�Gb�@>�1 Q�
H1�90-<5	P

�������6�����I���	��þº�����B��þ0/������0�A�2�µD�ý�þ��{�6�	��������þ�/^���4�>���B��þ6�
�2�-�������B���q�©��þ¶þ5ýg�>*B=2��þ
���<%bt ��ý2�>�Åþq��ý�þ��8þ0���l/��	�Nþ���þ�����þ
�Ñþ��$�2���	��þ����$�	�>Dh�.���V�-����*Jþ��V��ý���� �	z5�nþ0�b�	�
/2���j�	�º��ý�þW�.�
�2�4�T�����������	����+`�:�$�-���	�>Dh�.���V�����	�>�Åþ6����ý
��� �Bz���þ��6�	��/2���j�	�
�>���<�nþ��e���
�	�b���2*
t ���>��ý{�	�^�.oJþ6�;��*�þ�r��>*�ý<�Q�����8þV��� ���	zu��þ����
�	��/�����o�þ6�º�����Q���¶þ6���	�����B��+t�Bz{��þ��6�	��/����6�	����þ0���X�	��/������5�	�
�.oJþ����	*JþE/pþ6�-�.�4���%�6�����qr���*Jý<�9�����ÎþBt�üæý�þVD��	�;�?���6�	��þ�/2�:�I�
�áþ6��þ6���¶þy� �0�'�2� ����r���Du+��	z���� �	=���r���DV%s�������	��þ{��ý��	�
x@���¯���m��ý�þ$��oJþ6�;�����
r��>*�ý<�9���>�8þ	t2üæý�þ���þ���=2�3vÑþ����h�	��þ$����*��
�2�>�
�6�	�B�0+pþ����Ñþ0�b�-�����>��D�ý�þ6�@�b�B������/pþ������2*3��ý�þu�X�B�����>v2�����:�?�q�	�
�s=2�>�����2�Åþu�>�<��þ6�;�nþ0�������2*��2�-�����<�B����t
ÿV����þ(��ý����8��� ýg�>*B=2��þ�����+$�>�<��=2�:���>o�þ6���)D�þ(D9�B=2��/!þb���

�Ñþ0������ý�þA�Nþ��	�{�	�&/��	�+þ6��þ6���¶þA�>��/�þ6�-�.�w�©�6���<����r
��D�o���t9�2�
�b���B���^r���DV%����)ý����2�Nþ6���j�	�(�aNS� à í Z>NT� Ü�ð6ã %p� ���0�gZ��BzB%�+
D�ý2�-�]ý��-�s��ý�þ�ý����;/pþ0�?�4���(�	�]ý2�Åþ6o�þ{���:��=������>�B�a�©�^�����>�3=2�
�>�2r���Du+$�4�<�?����þ��������-����þ0/)�B=���r
��DV%�t �[�a�©�	�b�@��ý2�-���^���<�
�>�3=2� ý��	�2�Ñþ����(�����aNS� à í Z>NT� Ü�ð6ã % � ���0�gZ:�.�	%�+3D�ý2�-�]ý
�y�2�����	���E/��Xþ����2�	�q�nþdþ6� ���yvNþ@�2���	v2�Åþ6�^�����-�w�!�b�	�
�nþ���o����
�����	���	�Ar���DV%bt üæý2�-�5�6���)vÑþ�þb���2�-������þ�/�v<�������	�����2*����
ýg�>*B=2��þ0� �0�a����/ �*��t �[����v
�nþ�����þK���8�b���B���wr���Du+4��ý�þ
/pþ6�-�.� �	���b=2�3=2������þ0/ùvNþ��6�	=���þ�������ý�þKvX�	=2��/��������6�	��/2�:�
�����	���l�����������>�^���q�j�	�)��NT� à í Z(NS� Ü�ðbã % � ���.� Z��	zB%b+��	�
þb���Nþ�����þ�/l�!ýg�>*B=2��þ��*�B%bt ��ý�þ��w��=2v����;�	�b��þ0/5�j���B�¤��ý�þ4/2�:�I�
�áþ6��þ6���¶þ{�������;�.oJþ6�9�����8þ8DE�:��ý��6���<���3r���D �!ýg�>*B=2��þ��0�B%�+e�
�^���ù���2�Nþ��	���y���K�aNS� à í Z>NS� Ü�ðbã %X� ���0�gZ:�.�	%�+3vÑþ0�6�	=��nþ
 P í Ü ä ßjÜ ïjï�� Ü ^ã©ß ì ö;é[õ.ã©à ë,é�� � ��� v x�� ��� } 6  � �)� ú þ � ú þ � � z2t üæý�þ���þ'��þ���=2�>���
����þs��ý�=��u�Nþ6���áþ������>�y�b�B�����-����þ6�<�0t�üæý�þ4r���D��$���Eýg�>*B=2��þW�0�
����þ9D��	�;���&���	��þ���+	����/3�>�Q���&�;����þe���$�	v���þ6��oJþh��=
�]ý4�$/pþ������>�?�
�>�wv
�	��ýy/��>��þ��b�����	����t$k���D�þ6oJþ���+`���	�8þ3��þ��b���	�;�s�j�j�	�ãþb�2�	�3�
�2�Åþs�nþ0�����	�V�B�B%E�	��þu�	�I��þ6����=2v@�Ëþ0�������q�Åþ�����������=�����=2��þ0/8v2=��
�	�º/pþ6�
�nþ��b���B����r
��D��6+1���
/��	=��º����þ0/����b�����	���º����þ4��þ��·þ�o.�	�<�
�j�	�h��ý2���E�?�<�Nþu���&�����������B��þ	t
|9=�����þ6�<��������ý�þsü���~¤/��Xþ��u�2�	�A���	�Jþ���ý�þq����r�=�þ�����þq�	�

�b�B��r��-������þ����	��=������	�$���<���V�B�6�b�B=2�<�mD�ý�þ6�u�^�	�<���2*V/�þ��b�-���>�B���6+
�������¶þ$��ý�þu�������	�b�����,
�üV|��B�{��ý�þA��þ������	�E�Åþ6o�þ6�m�-���b�B������/��
þ6��þ�/����(vNþ5�bþ6*	����*	��v2�·þ5�j�B�^��oJþ6�;�����9r��>*�ý<�4���>�8þ0�6tK�[����ý�þ
�b=2����þ6�<�V��������þ��µ��ý����V���E�������	�>Dh�.��������=�þ$��ý�=��V�·þ0�	/����2*����
�>�
�	�6�6=2�;�	�b�Åþ��f���s��ý�þh�2��þ0/��-�������	�
�f�	�X��þ��b���	�g���6�6=2�����
�b�	+	�!t þ	t
ý2��D �^�����@�������6�����I�VDE���>�&vNþ4�5�nþ0�����	�V��� � 
 �0�^������=���þ0�6t
��þA��ý�=���ý
�.oJþA��ý2��DE�8�>�������	�������6=2�-���V���	��þ	+���ý�������ý�þA�����
r�=�þ�����þ����h�b�B��r��-���u��þ0���B�>=2�����	�w�B����=������>�B�w�����b��þ��B�nþ0�VDE�>��ý
ý2��*Jý�þ��V������p^�4/pþ������>�?�	+1D�ý����]ý'��ý�þ���þ6�j�	��þs��þ0��þ������:�;����þ0�V�����
�j�	���^�������	���áþ¶þ0/�v��B�;�F�j���B� ��ý�þ��nþ0�����	�����(��ý�þw|2þ6�<��þ6�0t


 . ��
(
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�




15

20

25

30

15

20

25

30

20

40

60

80

100

120

140

160

180
δ T

travel time
cross flow

∆ T
outflow ∆ T

inflow

MNACO0P)QLd y�KCGB7�G6/�� �������	�
���
���� ��������� ����� � 3L�@>�1436O6>bIWGL�@>�1 Q�
|1:9<-<5	P

15

20

25

30

15
20

25
30

0

20

40

60

80

100

120

δ T
travel time
no cross flow

∆ T
outflow ∆ T

inflow

MNACO0P@Q�$ y�KCG67wGB/�� ��� �������	�����
���� ������� � �!��� � 3��@>�1:3bOB>LI�GL�@>�1nQ�
�1:9<-<5	P
	 ù�% % �Qö;: �Qô�ø�ú»ù�ö�öJ'=ô2õ�#�÷
ö#"

��þ�ý��.o�þ�/pþ6���>o�þ�/4�u�b�B�B�����B����ý�þ��	��þb�����h����/pþ6�����1�nþ0�����B���
v��	��þ�/'���;��pq�4r���D =����>��*6ý<��v2���-/w�	=����B�������{��ýbþ6�	���	t ��þ
=���þ�/y�5��=2v���þb�u�	�e��ý����$����/pþ6�&���8*Jþ6�bþ6�;����þ����
�����B�����4�2��þb�
/��-�������	�
�����V��ý�þ5���;��pq�{r���D��!/����������-�8�nþ0�����B�^�6���
�	�b�>�?�	+
þb����þ���/����º���;��pq�v�����^�;%�t üæý�þ���þ@�2��þ�/��-�����>�B���^D�þ6��þ5o��	�:�
��/�����þ0/)�	*B���������8�	���	v��?�����B�����>�B�����3��ý�þ(��þ����u�����?��þ6� �©�
�����s=��������	�@=
�����2*���ý�þF�j=2���3����/pþ��!+AD�ý����]ý D�þFo�������/2����þ0/
��*<�������?�4��þ0���E/2�����B%bt ��þ5�����������F*Jþ6�bþ6�;����þ0/(r���D¤�6�	��/2�:�
�����	���4=2�
/pþ6��D�ý2�-�]ý�D�þ{������/�þ��b�B����þ6�-����þ��8þb��þ6���>��*��j���	�
�b�B��r��-���E��þ0���B�>=2�����	�mt
üæý����s���B�?�4��þ0��=2�>�s�-�A=���þb�j=��e�j�B�s�	=��3�b=�����þ6�<�sD��	���`+fvNþb�

�6�	=��nþ(�>�4þ6���	v2�Åþ��@=��@������*	�2�B��þ(�b�B��r��-������þ����	��=������	���j�	�
���]ýbþ�/�=2�����2*�t ��þ{*�þ6��þ�������þ�/��w���]ý�þ�/2=2�>���2*y����*	�	���>��ý2� ���
/��;�.D���ý�þ����	�8þs�2��þ�/��-�����>�B���$�	�V��ý�þ����
�����B�����3�ný����;���6�	���
�?����=
�������	��/pþ�����oJþ0/qý�þ���þB+��>�4��ý�þE���	��þ9��þ��	�>�-�?�����h���	��þ9D�ý�þ���þ
��ý�þ8��*�þ6�<���8�!�������6�����I�;%A�	��þ5�2��Dµ�	�>����D2þ0/(����þ6oB�	��oJþ{�	���
����=2���3�?D����[/����8þ6�����>�B�����Nþ6��o������B�2�8þ6�<���©�4/�����þ0����þ�/��B�b���b���-�
*	�;����ý�+���þ¶þ�ýg��*	=2��þ � �	%�t'üæý2���^�j�	���s=2�-�����>�B����þ6���Åþ��^�B�K�
�b�B�B���>��=2�B=��Q��þ��<=�þ����b���2*A�2���	v��·þ��¯DE�>��ý^��þ6�Åþ��B�nþh���>�8þ������
/
/pþ��B/����>��þ0�s�©D�ý2�B��þ3/��-���b��þb��þsoJþ6�;���>�B�5�-���<����DE�8����vNþ¹ÿ��,�
�b�B�4���·þ6��þ0%bt ��þ��
�<�nþ4��ý�þ^�b�	�<���>��=2�B=��$�nþ0�B=bþ6���6�>�2*5�2���	v��
�·þ����B�A�8���:�pþ�/(������þ��	�A�>�<��þ6*Jþ��u�2���	*	�;��� D�ý2���]ý(D�þq�6�	�
���B�>o�þ8DE�:��ý¥þb���-�?���>�2*(�����	�-�6ta�c�{�-����ýbþ6�¥þ��svNþ�/2/pþ0/K�>���
*	�;����ý8��þ����;�]ý���������þ0/�=2��þuD�ý2�-�]ý8���	��oJþ0���j�	�h��ý�þAvNþ������
�<�?�
����v2�Åþ4���]ý�þ0/�=2���>�2*5=2��/�þ6�$D9�B�������B�B/@�b�	�
�?�����	�>�<�^�j�Tt þBtsý�
V

���2������o�þ�/'��þ��b���B�$�������B�b�>�?�2%�t ��þ���ý�=���ý2�B�Ñþ����5�Nþ6���j�	���
���	��þ���þ0�����������-�@�2��þ�/2���b�����	���{���u��ý�þwv
�	�;���2���	���	*B�����>�B���	�
���;��pq�������^�h���5��o�þ6���>�<�	/pþ0/q��þ������	���	��þ0�	��t

$ ' >8' öJ'=ôçú<' =$ )&% ���,"�"$���,�
')( � �+*
, ��� "-* Á/..Ò²Á10 *�� � Á+2�Ò²Á. ;¸.ª43 �/5 �%��! � � Á
..Ò²Á
6T¼ � §6ª.¥.±  ;¡!´�7?��ªA¼f¦.¦.¡T§b ;¢T£s¿�§�¡,Å1§�½E¦0¡T�?£.�?¸.�T´ ×b�e¼g´²¡ Ù ¡c  8E¢�Ã6­��!Ç¨!�?½�Ã�´²½9¥.±  �¨!´²§�¸<Á 94: ð�ï�; ì ìHñ=<?>A@�ò�ï�BDCFERìDGIH�GIGKJ�LA<Åñ=M	>/; ìONQPRM	S�<�@=M=T
CU<·ï	>+N�M	>�ñWVÑï	>
CâðÚï	X�Vbï	>�BËìnðÚì�>/; ì Á ¶ �?¸6×b�?¡�Á	Å��9Á.¼g¥0®�¥.�!¨fÆ�Ð�Ð�Ð0Ò2�Y �/Z 5 ���
[��,� ÁeÕQÒ²ÁR\ ��]���! Á Ù Ò^..Ò²Áe ;¸.ª`_ ������� ÁQÃ	Ò²Áa6 ¶ �?�T´²®�¸§;°eÅ`�?¸b¨T�?¡!Ç Ù �m¼fÅ��&ÂK¼g¥0¨!§�½� �¨T´²§�¸{Ã6­��!¨!�?½$Á 9b: ðÚï�; ì ì ñ	<?>A@�òqï�BcCFERì

� ú
� æ

d ú
d æ

d û
d ü

d þd ÿ
d �

W úW æ
W û

W ü
W þ
W ÿ

e

f

MNACO0PwQ�b g�1436D<Y�EHGJI0>LKw9<58>LI�/2G61 7=Yj>F; 9j1:14>L-�7oA EHD~KC>ecEH>L-�783678ACG@-�GB/N7=Yj>HIj>bKk3L[�D<14>LI<AZ;�7=ACG@- 3BKkOBGB1:AC7=Y~E�P
G�J�G^hjikJ�L+<·ñ=M=>/;HìlM	>�ñmVbï	>
CâðÚï	XonJí	pIqRï«ò!<?L+p ï	>srWM=;OE+<?>�ì�HO>
Câì�X T
X <�@�ì�>/; ìR<F>tG^<Èðtulð
M�vb;�rsM=>/M�@�ì�pæì�>
C Á
w`�?¡T±²´²¸BÁ.¹g�?¡!½� ;¸6­bÁ	Î�Ï�Ï�Ì0Á�¦.¦<ÒÎ�Î�Ò²Î!x�Î�Î�Ò²Î�Æ0Ò�	y ' � ��� ÁB¼eÒ²Á�6 Ë � ´²�!¨!´²¸.®V ;¸.ªA�m��z6¥.´²¡!��ª � §�ª.�?±²´²¸.®�Å1 ;¦� ;«.´²±²´ ¨!´²�?�°>§�¡ Ë ×; ;±²¥� �¨!´²¸.®º¼ Ù�� Ã6­��!¨!�?½E�, ;¸.ª4Å`§�¸.¢?��¦�¨T��Á 9 Ù �?¢c£<Ò�¡!�?¦<Ò²Á �  ;�©Ç�T ;¢c£�¥0�T�[¨!¨!�ºÔI¸0�!¨!´ ¨T¥0¨!�s§;° Ù �?¢c£0¸.§�±²§�®;­bÁ�Î�Ï�Ï�Í0Á ¶ ��¼f¿ Ù ���?¦�§�¡!¨�°>§�¡Â�¼,Ã�¼�¼g¼ ÙmÙ ¦.¡!§�®�¡c ;½$Ò

� { &��+*���� Á|..Ò� ;¸.ª4} ���|[ Á�ÑXÒ²Á�6T¼y¡!�[×0´²�[³'§;°X¢?§�¸'
.´²¢?¨gª.�[¨T�?¢[¨!´²§�¸ ;¸.ªs¡T�?�!§�±²¥0¨T´²§�¸s½E§6ª.�?±²´²¸.®�½E�?¨!£.§6ª.��Á 9 H�~�~&~�ulð
M	>lòOM=;�CU<·ï	>lò�ï	>�HO>
T
Cóì�XFX <�@�ì�>
CQu�ð
M	>lòUqdï«ðOC�M	CU<Åï	>snJí«ò!Cóì�p2ò Á � §�±-Ò<Î�Á.Âf§.Ò�É.Á.Æ�Ð�Ð�Ð0Ò��� ��% ��� � ���%� ÁR��Ò²ÁR� ���%'/*���� Á�wgÒ²Á�� *��,"�"$�,�
� � Áe¹9Ò²Á�� ��"-* ÁR��Ò²Á ;¸.ªyÃ	Ò _ ����� 5 � Ál6T¿�¼fÅ Ë
Ù 
g¿�¥0¨!¥.¡!��¼ Ù�� Å`§�¸.¢?��¦�¨T� Ë ×� ;±²¥. �¨T´²§�¸Ù §6§�±-Á 9b� ðÚñ���n-G��+~�LRðÚïOqRìcGQ<·ðWulð
M�vb;lrWM	>/M�@¶ì�pæì�>
C^hR��i�n�ì�p�<FT
>/M«ð Á�Âg ;¦.±²�?��Á.Ô-¨T ;± ­6Á
.b¥0¸.�eÆ�Ð�Ð0Î�Ò

� � ��% ��� � ���%� ÁA��Òb ;¸.ªt� ��� Á�ÕQÒ²Á16TÊX¡T§�¦��?¡!¨!´²�?�X§;°B¼g´²¡ Ù ¡c  8E¢fÅ`§�¸0Ç

�´²¢[¨!�<°>§�¡<¿�¡T�?�
 ;¸.ª9Ã6¨!¡T¥.¢[¨!¥.¡T�?ªe��§�¥�¨T´²¸.®.Á 9^: ðÚï�; ì ì ñ	<?>A@�ò ï�B�CFERì�GIH�GIG
J�LA<Åñ=M	>/; ì�N&PRM	S < @�M	CU<·ï	>+NjM	>�ñ�Vbï	>
CâðÚï=X�Vbï	>�Biì�ðÚì�>/; ì Á � §�¸6¨!¡T�� ;±-Á�¼f¥0Ç®�¥.�©¨fÆ�Ð�Ð0Î�Ò

� � ��+,+���!#��� Ác6cÕf´²®�£�¼g± ¨!´ ¨T¥0ª.� Ë ¸0¡T§�¥0¨!��Å`£� ;¡!¨!��Á 9 Ù �?¢c£<Òg¡T�?¦<Ò²Á£b¨!¨!¦ 
 Ä�Ä�³m³m³QÒ �!�?¦.¦��?�T�?¸<Ò ¢?§�½$Á�¿��?«.¡!¥� ;¡!­�Æ�Ð�Ð�Ð0Ò
� \ &1[�����% Á ¶ Ò²Á�� � � Á���Ò ÇjÕeÒ²ÁfÁm ;¸.ª�� �,� � � Á Ë Ò²ÁR6[Ã6¨c ;«0´²±²´ ¨I­q§;°ÔI¸b¨T�?¡!�T�?¢[¨T´²¸.®f¼g´²¡!¢�¡T �°>¨B¿2±²§�³���Ö�¸.ª.�?¡2Å`�?¸6¨!¡c ;±²´�7?�?ªe ;¸.ª ¶ �?¢��?¸b¨T¡T ;±²´�7?��ªÅ`§�¸'
�´²¢[¨1¼�×b§�´²ª� ;¸.¢?�,�m¥.±²�?��Á 9�: ðÚï�; ì ì ñ	<?>A@�ò	ï�BQCFERìIGQH
GQG�J�L+<·ñ�M	>/; ìON

P�M=S�<�@=M	CU<Åï	>+N�M	>�ñ�Vbï	>
CâðÚï=X�Vbï	>�Biì�ðÚì�>/; ì Á � §�¸b¨T¡!�� ;±-Á�¼g¥.®�¥0�!¨fÆ�Ð�Ð0Î�Ò
� )��/%�% � "$"$�%� � ÁBÑ
Ò²Á � ���$�+*�� Á�¼9Ò²Á� ;¸.ª4� �,� � � Á Ë Ò²Á#6 � ´ � �?ª$ÔI¸b¨T�[Ç®��?¡`Ê
¡T§�®�¡c ;½E½E´²¸0®g°�§�¡X¼g´²¡T¢?¡T �°>¨`Å`§�¸'
�´²¢[¨m�m���!§�±²¥0¨!´²§�¸<Á 9D: ðÚï�; ìHì ñ	<F>A@«òï�BlCFERìaGQH
GQG�J�LA<Åñ=M	>/; ìON�P�M=S�<�@=M	CU<Åï	>+NDM	>�ñ�Vbï=>
CÅð�ï	X�Vbï=>�Biì�ðÚì�>/; ì Á

� §�¸b¨T¡!�� ;±-Á.¼g¥0®�¥.�!¨gÆ�Ð�Ð0Î�Ò$
� � ��% ��� � ���%� Á���Ò²Á^6T¼�¹g�?§�½E�[¨T¡!´²¢_�g¦�¨T´²½E´�7� �¨!´²§�¸^¼g¦.¦.¡!§b ;¢c£^¨T§¼f´²¡T¢?¡c �°:¨9Å`§�¸'
�´²¢[¨h�m�?�T§�±²¥0¨!´²§�¸<Á 9�: ðÚï�; ì ì ñ	<?>A@�ò�ï�B�CFERìtGQH
GQG�J�L+<·ñ=T
M	>/; ìON P�M	S < @�M	CU<·ï=>+N�M	>�ñ¡Vbï	>
CâðÚï	X&Vbï	>�BËìnð�ì�>/; ì Á ¶ �?¸b×b�?¡�Á Å��9Á6¼g¥.®�¥.�©¨Æ�Ð�Ð�Ð0Ò$�$ � � � Á��2Ò²Á	� ��� � � Á Ë Ò²Á� ;¸0ª � ��% ��� � ���%� Á	��Ò²Á-6[Ã6¨c ;«0´²±²´ ¨I­Q§;°�ÔI¸6¨!�?¡!Ç�!��¢[¨!´²¸.®E¼g´²¡!¢?¡c �°:¨f¿2±²§�³f�gÖf¸.ª0��¡ ¶ �?¢?�?¸6¨!¡c ;±²´�7?�?ª3Å1§�¸ 
�´²¢[¨g¼�×b§�´²ª� ;¸.¢?��m¥.±²�?��Á 9¢: ðÚï�; ì ì ñ	<?>A@�ò¯ï�B4C?Eºì¡GQH
GQG£J�L+<·ñ�M	>/; ìON�PRM	S < @�M	CU<·ï	>+NaM	>�ñ
Vbï	>
CâðÚï	X�VÑï	>�Biì�ðÚì�>/;Hì Á ¶ ��¸b×b�?¡�Á Å��9Á.¼f¥.®�¥.�©¨&Æ�Ð�Ð�Ð0Ò$>2�¤ ��% ��� Á2¼9Ò²Á Y %�' _ *�� � &�� Á�ÑXÒ²Á#\ & � �1[ Á � Ò²Á2 ;¸0ª (�����!#�,� Á � Ò²Á
6 Ù ¡T  �!�?¢[¨!§�¡!­6ÇI«� ;�T�?ª'¼g´²¡ Ù ¡c  8E¢ �  ;¸� ;®��?½E��¸b¨�¾ Ù wXÇI¼ Ù�� À�¥.¸.ª.�?¡³1�� �¨!£.�?¡9¥0¸.¢?��¡©¨c ;´²¸b¨I­bÁ 9W: ðÚï�; ì ì ñ	<?>A@�òçï�BDC?Eºì�¥ºð�ñ¢�¦n-G��+~�Ldð�ïOqdìlGQ<·ð
ulð
M�v�;�rWM	>/M�@¶ì�p�ì�>
C�h���i§n�ì�p�<F>/M«ð Á2Ã0 ;¸b¨c V¿���Á�Â � Á ¶ �?¢?�?½�«��?¡Æ�Ð�Ð0Î�Ò$ � � ��� "�!#������! Á ¶ Ò. ;¸.ª¡� " � �+¨ )���"$"$����! � � Á�Ã	Ò²Áo6 Ù £.�Q ;´²¡`¨!¡c  8h¢

�§�³8½� ;¸� ;®��?½E�?¸b¨`¦.¡!§�«.±²�?½l³�´ ¨!£E�?¸.¡T§�¥0¨!�&¢� ;¦� ;¢?´ ¨!´²����Á 9�© qdì�ð
M	CU<·ï=>lò
h»ì�òiì!M«ð
;�E Á � §�±-Ò.ÉbÍ0Á�Î�Ï�Ï��0Á.¦.¦<Ò.ÉbÐ�Í�x6ÉbÆ�Æ0Ò$ � (���!#" � � Á+..Ò. ;¸0ª ( ����! ����� Á��QÒA..Ò²Á¦6 Ù £0�&ÔI½E¦� ;¢[¨1§;°�Ã6¨!¡T¥0¢?¨!¥.¡!�§�¸�Å`§�®�¸.´ ¨!´ ×b�4Å1§�½E¦0±²� � ´ ¨I­�´²¸5¼f´²¡ Ù ¡T  8E¢3Å1§�¸b¨!¡T§�±-Á 9 Ù ��¢T£<Òm¡T�?¦<Ò²Á
� Ô Ù Á
.�¥.¸0�QÆ�Ð�Ð�Æ0Ò$ ��� �=ª��,� Áb¼eÒ²Á+_ ���%��'��,� Á6Ê2Ò²Á+� �%+,��� Á6ÕeÒ²ÁA� �=ª���� Á�¹9Ò²Á� ;¸.ªt« � ��'
% �%� Á`ÅgÒ .�Ò²ÁQ6 ¶ �?±  ?­^¦.¡T�?ª.´²¢[¨!´ ×b��½E§6ª.�?±²��§;°�¨!£.�$Âf �¨T´²§�¸� ;±m¼f´²¡T�T¦. ;¢��Ã6­��!¨!�?½¯¥0�T´²¸.®s£6­�«.¡!´²ª�¢?§�¸b¨T¡!§�±�¨!£.�?§�¡!­bÁ 9�¬A­=­�¬ GQp�ì�ðO<F;!M	>`Vbï=>
CÅð�ï	X
Vbï	>�ì�ðÚì�>/;Hì Á.¼f¸.¢c£.§�¡T ;®���Á�¼^��Á �  ?­VÆ�Ð�Ð�Æ0Ò


,
���
(
�


����������������� ��!#"$�%"$&�"$� ��
 ����� � ����&�"����$!�����'(��!#"�� � ����&�"$���$!*)���+,���(-,.�.�-0/$1,. 
�



